PART 1: INTENTIONAL TORTS

BATTERY

To establish a prima facie case for battery P has to show, by a preponderance of the evidence, that D: 
Elements

1. Intent to cause either harmful or offensive contact
· (a) Having the PURPOSE to cause a harmful or offensive contact  
· Having the purpose of inflicting/ causing harmful or offensive contact 

· (b) Knowing that harmful or offensive contact was substantially certain to occur 

2. Contact must occur 
i. Bodily contact is necessary, may be direct or indirect, but must be physical 

1. Such as touching, throwing something at someone, shooting someone 

2. Extension of your body- someone grabs your shirt, blows smoke in your face, you’re holding a book and someone throws something and it hits the book, that is contact. 

3. Yelling= no contact; Spitting=Contact 

3. Resulting in harm or offense to P 
i. Plaintiff is physically harmed or reasonably offended

ii. Harm= physical harm

iii. Offense= offended a reasonable person’s sense of dignity 

Single versus dual intent state

· Dual intent interprets Intent elements as: intent to contact and intent to harm physically or offend 

· Single intent interprets it as: intent to contact 

b. Don’t need to prove D intended to cause harm or offend

1. DEFENSE to this is consent. P consented to the touch. 

· HYPO: Hayden puts his hand on a student’s shoulder. She is offended because he looks like her uncle who molested her.

2. Single intent state would say this was actionable

3. Dual intent says that this should not be actionable 

Case illustrations:

1. Snyder v. Turk: examines element 1 (INTENT TO OFFEND)
· Doctor grabbed P’s shoulder and pulled her face down while surgery was ongoing ( flag goes up because there is contact 
· D denied intending to cause harm, but no requirement that  D intended to harm, liability can be found if there was an intent to offend 

· Intent to make contact (single intent), intent contact and for contact to be offensive or physically harmful (dual intent)

· Contact (grabbing the nurse)

· Harm or offense resulting from the contact 

· Offensive “to a reasonable sense of personal dignity” 

· Rule: Battery does not require intent to physically harm, offensive contact is enough 

2. Cohen v. Smith *examines element 3 (Intent to Offend) 
· P was having a c section and was touched by male D during the procedure

· P had warned that her religious beliefs forbid that she be touched by a man

· Hospital assured it wouldn’t happen 

· Appeals court reverses – intent to commit offensive contact if D knew of P’s religious beliefs 

· Offensive “to a reasonable sense of personal dignity” 

· Dual Intent 

· Rule: An offensive touching occurs if the tortfeasor knew of a person’s susceptibility to the touching, even if the touching would not be offensive to a person of ordinary sensibilities 

3. Garratt v. Dailey (Intent- Substantial certainty)

· 5-year-old child pulls chair out from under D and causes serious injury 

· Bench trial – no jury 

· The court held that the trial court erred in thinking that intent has to be purposeful only

· Intent means: purposefulness (purposeful intent) or knowing that the consequences are substantially certain to result (substantial certainty)
· did he know the harmful or offensive contact was substantial to occur? 

· SC easier to prove 

· Remanded to make definite findings on issue of whether it was substantially certain D knew she would hit the ground( Intent prong for battery satisfied 
· Rule: Absence of purpose to injure doesn’t matter if D knew of substantial certainty
4. White v Muniz (Mental Deficiency- Dual intent) 
· Dementia patient struck P in jaw when she was changing her diaper
· P sued for battery 
· CO law requires dual intent which isn’t here ( ( didn’t understand her act was harmful
· RULE: Insane person can be held liable (but harder to prove dual intent—that they intended to harm/ offend the person)
· Can prove intent to touch but hard to prove to intent harm or offend 
5. Wagner v State (Mental Deficient- Single Intent)

· ( attacked by mentally disabled person in a department store
· UT, single intent jurisdiction( only need to prove intent to touch 
· ( liable for battery
· Rule: mentally disabled can be held liable 
*General rule for people with diminished capacity:

· Not immune, no insanity defense 

· Can be held liable for intentional tort (need to prove they had the requisite intent

· Mental infirmity factually goes to whether requisite intent was formed  

Transferred Intent:

· Intend tort on Person A, but commit the tort on Person B 

· Intend to commit one tort, but commit another tort 

i. EXAMPLE: Hayden intends to get A’s attention by pretending to throw a pen at her. She thinks she is going to be hit by pen, Hayden accidentally throws the pen, and ends up hitting G who sits behind A. G can sue for battery bc there was touching. 

ii. EXAMPLE: throwing a pen with intent to hit person A. Pen sails over A and person B manages to duck the flying pen. Is that battery on person B? 

1. No bcthere was no touching..But that person can sue for assault. 
iii. EXAMPLE: If I throw a marker at the table where you're sitting to scare you but end up hitting you. Can I be sued for battery? Yes, I intended to commit an assault, put the person in imminent contact but instead committed battery. 

Case illustrations:

Baska v. Scherzer

· P stepped in-between to break up fight and got punched

· The fact that there was a lack of intent on the person who was hit was not a defense

· RULE: Enough that the ∆s intended to produce harm on other persons; does not change that their acts were intentional (Intent to hit A, transfer to person B 

ASSAULT
Touching of the mind is assault. This tort protects your mental state.

To establish a prima facie case for ASSAULT P has to show, by a preponderance of the evidence, that D: 
Elements

1. Intends to place a person in a reasonable apprehension of imminent harmful or offensive contact

· Intent: Purpose to create reasonable apprehension of imminent harmful or offensive contact, or knowing that reasonable apprehension of imminent harmful or offensive contact is substantially certain to occur 

· Reasonable: has to be something that makes you think it will actually happen

· Apprehension ( awareness, not necessarily fear, just awareness that a person is about to touch you in a harmful/offensive way

· Imminent: doesn’t necessarily mean immediate, but not too far in the future; without significant delay 

2. P is ACTUALLY placed in such apprehension (awareness) 

· You actually have to believe you are going to get hit and that belief has to be reasonable 

· ASSAULT IS AWARENESS OF CONTACT 

· Not just apprehension of something bad that is going to happen, it has to be contact 

EXAMPLES to help illustrate elements

1. Someone tries to mug you, but you have your earbuds on, check your watch, and don’t notice them( This is not assault…You have to be aware 

2. Hayden says, “after class I am going to go tell Dean Waterstone a lie about you”( Although apprehension and imminent, there is no physical contact

Case Illustration 

1. Cullison v. Medley 

· D shows up at Ps trailer and threatened P to stay away from daughter 

· D had shotgun in holsters and kept grabbing at it. P feared he would get shot 

· Trial ct erred, determined not assault b/c gun never left holster ( caused psychological harm and invasion of mental peace

· Holding: Assault is found where one intends to cause a reasonable apprehension of imminent harmful or offensive contact in another

· It is a touching of the mind, not the body(damages which are recoverable are for mental trauma and distress

· RULE: reasonable jury could decide that he was placed in a reasonable apprehension od imminent harm 
Difference between Assault and Battery
1. You need contact with battery; Assault would be battery if completed  

2. You can have both at the same time

· If you threaten somebody and then go through with it

3. You can have battery without assault get hit by surprise (i.e. hit from behind)

FALSE IMPRISONMENT
Protecting your mental state; you are free to move around

FI: Occurs when a person confines another intentionally without lawful privilege and against his consent within a limited area for any appreciable time, however short. P must be aware.

To establish a prima facie case for FI P has to show, by a preponderance of the evidence, that: 
Elements
1. D acts intending to confine (Intent to confine) 

· either having the purpose to confine OR 

· knowing that confinement is substantially certain to occur 

2. Confinement

· Any appreciable amount of time (to a reasonable person)

· Based on a reasonable belief that you can’t leave or are confined 

3. P is aware of the confinement or physically harmed by it 

· if you’re knocked unconscious and then dragged into a room where the door is locked and then 2 mins later someone lets you out, you don’t have FI b/c you weren’t aware or hurt while confined

· Actual harm required to support a claim where the plaintiff was not aware of the confinement 

Case illustration:

1. MCann v. Wal-Mart Stores (intent, confinement, awareness)

· 2 Walmart employees stepped out in front of the McCann’s blocking their path to exit.

· One of the children was suspected of shoplifting there previously and was not allowed in the store

· The McCann’s were asked to go somewhere and that the police was being called

· They were kept at the store for a little over an hour

· Reasonable belief there is confinement 

· No reasonable reason why they didn’t let the kid go to the bathroom- evidence of confinement  

· The fact that she didn’t ask to leave does not ruin her case

· Confinement can be imposed by physical barriers or physical force, threats of physical violence, or duress, OR false assertion of legal authority

· RULE: Confinement doesn't require physical restraint 
TORTS TO PROPERTY: TRESPASS TO LAND
Trespass: invasion of the plaintiff's interest in the exclusive possession of his land, while nuisance is an interference with his use and enjoyment of it. 

· Don’t have to know land belongs to someone else ( favors property owners

· Entering without consent is an essential element of trespass

Elements

1. Prove ownership or possessory interest in the land 

2. Intentional and tangible invasion, intrusion or entry by D onto P’s land 

· Intent- Purpose to enter or stay on land, or knowing that entering/staying on land is substantially certain to occur

(personal entry or intentionally causing object to enter land)
· Intent to enter is enough (don’t need to intend to harm trespass)

· Must be tangible 

· Accidental intrusion does not count (but then if you refuse to leave, then there might be a trespass)

2. Interferes/ harms the plaintiff's interest in exclusive possession 
· Doesn’t need to show damage to property, just that property is now not just the P’s space 

Damages/ Remedies 

· P does not need to prove actual injury to land; Just going over the boundary is enough for P to seek damages

· Can get at least nominal damages even if no physical harm exists- simply for breaking the law  

· Physical damages exists, P can get damages measured either by the cost of repair or by the diminution in the value of the premises resulting from the tort. 

· Compensatory damages: must actually be compensatory. Under proper proof, P can also get compensatory damages for loss of use of the land and for emotional distress or annoyance caused by the trespass. 

· Punitive damages: if trespass is deliberate or malicious.

· Injunctive relief: Where damages are inadequate as where trespasses are continuing or will be repeated, the plaintiff may be entitled to an injunction to stop the trespassing or to force a trespasser to leave or remove something placed on the plaintiff's land. 

· Extended liability: Trespasser is liable for damages directly caused by his trespass, even if he never intended harm and could not foresee that harm. 

· Ex: D knows he is trespassing on a farm and throws his cigarette into what he thinks is a puddle of water but what is actually gas. It spreads a fire that burns down the barn. He is liable for the loss of the farm 

· HYPOS: pg. 53

1. (1) A cat is perched atop a fence that divides property A from property B. The cat wails in the middle of the night, and property owner B throws a shoe at the cat from her side of the line. The cat dodges the shoe and continues singing, but the shoe falls on A’s property. Do these facts establish a prima facie case of trespass?

2. (2) A hang glider took off atop a mountain point, He pass over Ps land at a height of 250 feet. A shotgun ripped holes in the glider’s wings and he lost control. He landed safety in another person’s yard. Is he a trespass to either persons yard 

Hypo:Throwing shoe at cat sitting on fence 

1. ( - Plaintiff has ownership

2. ? – Intent 

3. ( - Shoe lands on property (tangible entry) 

4. ( - minor, but it is an interference 

· Plaintiff will argue: Defendant didn’t have the purpose to enter/stay on land, but he should have had the knowledge that by throwing the show it was substantially certain to enter the land (subjective) 

CONVERSION OF CHATTELS:

Conversion
· Is an intentional tort( stealing, borrowing w/o permission??
· No intent to do anything bad 

· No requirement that D be conscious of wrong doing
· One who takes another’s watch in the honest belief that it is the person’s own is still a converter if the dominion thus exercised is sufficiently substantial and the act interferes with another’s right to exercise control
· Conversion would not apply where the intention is good, the duration, brief, the event harmless 

· *For conversion, you have to be treating the item as your own 

· BE WARY OF BORROWING, THIS IS NOT SUBSTANTIAL ENOUGH 

Elements
1. Intent to exercise dominion over a chattel (an item of personal property)

· intent to exercise dominion over personal property OR 

· With knowledge that such interference is substantially certain to result 

2. Exercise of substantial dominion (serious enough justify imposing liability) 

· Dominion means treating that chattel as if it belongs to the D (example: destruction or sale of an item, giving it away)

· Factors that indicate dominion:

a. Extent and duration of control

b. D’s intent to assert a right to the property 

c. D’s good faith 

d. Harm done

e. Expense or inconvenience caused 

Remedies
1. Standard Remedy ( market value of object at the time of conversion (“forced sale”)  

2. Replace item 

3. Return chattel- (replevin) via injunction 

4. Typically can’t get emotional distress damages, but some exceptions

· Typically can’t get emotional distress damages, but some exceptions

· Ex: Indy 500 ring taken and he claimed emotional damages ( court agreed with this

· Ex: Antique grandma’s wedding dress stolen and bride couldn’t wear it ( emotional damage

· Ex: Some courts say you can sue for IIED if someone harms pet in front of you

HYPO:
1. If someone steals something, takes it to a pawn shop (and the pawn shop probably knows that it is stolen) BOTH are liable for conversion 

i. But what if someone purchased it with good faith?

1. They would not be liable for punitive damages

2. But are still liable 

2. Common fact patterns:

a. Goods taken and kept or sold/given away ( transfer to one party to another

b. Goods taken then destroyed

EXTRA: 

Property that may be converted 

· Tangible personal property

· Stocks/ bonds

· Intangible property such as electronic data, not deemed trade secret 

Serial Conversions

· A steals watch and sells it to B, both A and B are converters since both have exercised SD and have intended to do so. Both can be sued/ held liable. 

Bona fide purchases can be liable for conversion even if they buy in good faith (meaning that P can still recover the chattel)

· Theory is that purchasers cannot buy something from someone who doesn’t have title to that property

· Different if D acquires the property in bad faith…if he gets P to agree to give it to him, then D can sell it and bona fide purchaser would not be a converter if she didn’t know that D got the property in bad faith (fraud) 

TRESPASS TO CHATTELS
· It’s just like conversion, except it involves a lesser degree of dominion 

· Liability based on actual damage, either in the form of actual harm to the chattel itself or an interference with P’s access or use  

· *One who intentionally interferes with another’s chattel is liable only if there results in harm, or interference with the Ps access or use 

Elements
1. Intent to exercise dominion over a chattel that belongs to P 
· intent to interfere w/personal property OR 

· With knowledge that such interference is substantially certain to result 

2. Exercise of dominion but less substantial exercise of dominion

· Physically interfered with Ps use and enjoyment of personal property 
· P was harmed thereby

· Show material harm or deprivation of use for substantial time 

Remedies:
· Fair rental value (Ex: Taking someone’s car for joyride) 
· Money for damage to the chattel 
· Return of the chattel 

Case illustration
School of Visual Arts v. Kuprewicz
1. Porn emails and unsolicited job applications were sent to P and harmed his computer( interfered with use and enjoyment 
2. Suit brought for trespass to chattels 

· P must prove that D intentionally and without justification or consent physically interfered with the use and enjoyment of P’s personal property and that P was harmed…liable only if there is harm to P’s materially valuable interest in the physical condition, quality or value of the chattel or if the P is deprived of the use for a substantial time 

· Court held P met elements 

· It was the damages to the computer that made D liable, not the sending bad emails. 

DEFENSES TO INTENTIONAL TORTS
1. Self-defense 

2. Defense of others

3. Defense and repossession of property

4. Arrest and detention (merchant’s privilege to detain) 

5. Discipline

6. Consent* (sometimes a defense) 

1. SELF DEFENSE

· Designed to prevent harm, not designed for retaliation/ revenge 
· D has burden of proof to prove self-defense 

· Every time you hit someone = battery (ex. 20 hits = 20 batteries ( need to analyze each one)

· *WE HAVE TO ASK IF EVERY ACTION IS PRIVILEDGED 
· Example: the first punch may be privileged, but the punches and kicks after might not be
· Kicking someone while they are down is not reasonable and probably surpassed self defense 
· Not an excuse for escalation; Each unprivileged act is tortious 

Elements
1.  D reasonably believed that force was needed
· Because of the apparent threat of battery, assault, or false imprisonment 
· D feels an actual or reasonably apparent threat to safety or serious bodily harm and threat of physical harm must be imminent (reasonable belief)
· If you were wrong in believing it, the question is whether you were reasonable to believe it
2. The degree and amount of the force was reasonable (not excessive in degree or kind)
· It is possible that the first blow could be privileged and then the ones after are deemed excessive

· Doctrine of rough equivalence- amount of force used must be roughly equivalent to the amount of force apparently coming to you 
Case illustrations
· Touchet v. Hampton

· Touchet terminated from his job, left threatening voicemails on Hamptons answering machine
· Hampton went to Touchet’s new workplace to tell him to stop, T quickly turned around in his chair toward Hampton and yelled “fuck you!”
· An altercation ensued
· D claimed P came at him, but D had to be pulled off of P to stop (conflict testimony on whether P actually stood up and came at D) 
· P sued for battery and D claimed self-defense
· RULE: Provocation is generally not sufficient for self-defense
· To escape liability for damages resulting from battery, D must prove his actions were privilege or justified…self defense if there was an actual or reasonably apparent threat to D’s safety and the force employed was not excessive and not in the desire for retaliation or revenge 

· Provocation

· Generally not sufficient to raise the self-defense privilege… insults and arguments do not justify physical attack by insulted D
· Mistake
· If D reasonably believed that he is being attacked can raise self-defense privilege
· as long as D's belief that he was being attacked and was in danger

·  is reasonable, and 

· the amount of force used was reasonable. 

· HYPO: Mistake: what if you break someone’s arm mistakenly think getting attacked by a friend? 

· Prima facie case for battery: Yes 

· Intent: Yes 

· Self-defense: ​​​​____

· Jury question 

· Need to analyze what cuts in favor and cuts against the defendant on the defense 

· Analyze each act (how much force used, was it necessary, was it privileged) 

· Excessive Force 

· Privilege extends only to reasonable force. Any excessive force is unprivileged and the defendant is liable for it. 

· A defendant who retaliated or continues the defense after the fight is over is likewise liable. 

· Defining excessive force is a matter of degree and depends on the facts of each case

· Reasonable deadly force

· The quantum of force considered reasonable in self-defense will vary with the facts

· General rule: defendant’s privilege to use that amount of force extends only so far as reasonably necessary to prevent death or serious bodily harm. 

· Retreat

· Defendant who is attacked is not required to retreat or otherwise avoid the need for self-defense
· When D is threatened with sexual attack, or force likely to cause death or serious bodily harm, the D is privileged to respond with reasonable deadly force
· Some states require reasonable retreat before deadly force is used when the D is not at home
2. DEFENSE TO OTHERS 
· Most jurisdictions recognize that a person may defend others on the same basis that he may defend himself or herself

Elements: 

· D has a reasonable belief person was being attacked and needed help (even if mistaken)
· Amount of force used was reasonable
*Minority: holds that if there is a mistake (Police officer beating person A in order to arrest, person B unaware strikes officer to defend person A), even a reasonable one( voids privilege, leaving D liable for battery.
3. DEFENSE AND REPOSSESSION OF PROPERTY
· Force used to defend property: not the same amount used to defend people (reasonable force is less); cannot be designed to inflict bodily harm or kill 

· Recapture of chattels- any privilege to regain possession of chattels is quite limited in general, the owner must resort to the courts for a remedy rather than using self-help

Elements 

1. Reasonable belief by defendant that “force” is need to protect his property 

2. Reasonable amount/type of force  

a. In common law, could not use deadly force to defend/protect property 

i. No privilege to use force intended or likely to cause death or serious bodily harm against another to repel the threat to land or chattels

1. Unless the intrusion threatens death or serious harm to occupiers or users of the premises (back to self-defense)

b. Doctrine of Rough Equivalence 

i. Force apparently coming at defendant = Force used by defendant

Case Illustration

· Katko v. Briney (shotgun in empty house)
· Defendant set-up a shotgun trap because his property was continuously broken into

· Criminal = plaintiff suing for battery 

· Brineys intended to prevent unlawful entry to burglar ( intended to assault (scare intruders)

· Intended an assault and committed a battery (transferred intent) 

· Problem is with the reasonable amount/type of force 

· No threat of bodily harm to another person (unoccupied home)

· Are these equivalent?


· Threat to property = use of shotgun 

· The court says no – can’t use greater amount of force than the force coming at defendant 

· Value of human life and limb outweighs interest of a possessor of land in excluding others…a possessor of land has no privilege to use force intended or likely to cause 

death or serious harm against another whom the possessor sees about to enter or meddle with his chattel unless the intrusion threatens death or serious bodily harm to the occupiers or users of the premises

· RULE: Cannot use deadly force for trespass to property when no threat of death or SBH 
· Brown v. Martinez (kids trespass to steal watermelons)

· Plaintiff = boy stealing watermelons

· Defendant = farmer who shot him 

· Intentional Tort = battery 

· Dual Transferred Intent 

· Intended to commit an assault but committed a battery 

· Intended to commit an assault at two other boys, but committed battery on the plaintiff 

· Cannot use deadly force for trespass to property 

· Would this be privileged?

· Trespass/theft of melons = Assault: threat of force 

· Court says there is no reason to shoot someone running away with watermelon (minor offense) 

· Don’t privilege that; call law enforcement 

· Can’t shoot your gun to protect your property from trespassers ( escalation 

· If someone steals something can you use force to recapture? 

· Allowed to use reasonable amount of force if it is in “hot/fresh pursuit” (jury question) 

· If pursuit goes cold, then privilege stops – need to call police (no self-help) 

· RULE: No privilege to use any force calculated to cause death or serious bodily injury where only the property is threatened.
· D may use force necessary to overcome resistance and expel intruder and if in the process his own safety is threatened, he may defend himself and even kill if necessary but a mere trespass does not justify such an act

· If D punches a kid trespassing the jury might consider that reasonable force (in comparison to using a gun)

· Hot Pursuit Rule: can use self-help to recover property if you’re in fresh pursuit (e.g., can run after someone)

4. SHOPKEEPER’S PRIVILEGE: Shopkeeper can use temporary detention for investigation…don’t need to be sure something was stolen but can hold them back to check

*Some states void privilege ( if you make a mistake you lose privilege

Elements 

i. Reasonable belief that P shoplifted

· Defendant subjectively believes plaintiff has taken goods and a reasonable person would have same belief based on the facts

· Can act on what proves to be a mistake as long as facts show that belief was reasonable

ii. Purpose of the detention was proper (i.e. detention for questioning)

· detention for investigating or summoning a LEA

iii. Duration of manner and time was reasonable (use of force, relevance of property value)

· Need to detain in a reasonable manner for a reasonable time

· Force must be appropriate to the defense of the property…can’t use any force calculated to cause death or serious bodily injury where only the property is threatened 

· Great force is only ok if necessary to use that kind of force if its in self-defense

Case Illustration 

1. Gotarez v. Smitty’s Super Valu, Inc (guys suspected of stealing from store)
· Shopkeeper thought P and friend stole air freshener and followed them 
· Employee grabbed friend, P yelled to leave his friend alone, and employee put P in a chokehold
· Element 1: Satisfied 
· Element 2: For the purpose of investigating/summoning police 
· No evidence of either questioning or summoning of officers 
· Element 3: Manner and length/ force excessive- Not satisfied 
· Didn’t ask them to remain, no questioning about if they had the vaporizer, put him in a chokehold 
· Force was unreasonable for the value of the thing stolen
Merchant's Recapture of Chattels: common law grants no special privilege to merchants to recapture chattels once possession has been lost. 

· Can only retrieve immediately or in fresh pursuit and uses a reasonable amount of force. 

· Once lost can’t capture it a week later

DISCIPLINE
Basic Rule:Parent is given a privilege to use a reasonable amount of force to discipline child upon a reasonable belief that discipline was necessary 
Elements
1. Reasonable belief that discipline is needed

· The force is reasonably related to the purpose of safeguarding or promoting the welfare of the minor, including the prevention or punishment of the miners misconduct

2. Reasonable amount and type of force (reasonable manner of time + discipline)

· The force used against the minor child is reasonable

· The force used neither causes, nor creates a substantial risk of causing, physical harm (Beyond fleeting pain or minor transient marks), Gross degradation, or severe mental distress. 

CONSENT
Turns on reasonableness of the person being sued ( that P consented to the very thing that’s being sued

· Belief of the consent has to be reasonable 
1. Reasonable belief by D that P consented to the act (not the consequences) 
· As long as P apparently knows the nature of the act 
· Knowing character and the normal consequences
· Example: boxing with gloves versus boxing with gloves that had brass knuckles, which is a different act 
2. Once the scope of consent has receded you are liable 
3. Consent as a defense cannot be applied in power relationships 
· Power imbalance between the two-people involved in alleged consent
· unlikely to find that a person with more power reasonably believed that the other consented (Example: employer and employee)
· Consent is to an act, not to the consequences of the act
1. Example: consenting to boxing without gloves and you get bloody, you can’t claim that you didn't consent to be seriously injured 
· Consent can be expressed or implied 

· Can be revoked implicitly and explicitly 

· Consent must be voluntary, it cannot be compelled 

· Can’t consent to a crime 

Case Illustration 

1. Robbins v. Harris: (inmate raped by prison guard power imbalance) 
· 
Prison: unequal power between inmates and guards

· Consent is not a defense when the P is not in a fair position to be consenting (inmate doesn’t have autonomy) 

2. Kaplan v. Mamelak: (Substantially different treatment)

· Doctors who operate without consent liable for battery 

· but can also be liable when they are given consent for one type of treatment but then do something different from that covered by patient’s expressed consent 

· RULE: A battery occurs if he physician performs a substantially different treatment from that covered by the patient's expressed consent. 

*Emergencies: Battery will not occur in times when doctor has to perform treatment without consent because of emergency 

3. Doe v. Johnson (Magic Johnson): Scope of consent 

· Woman consented to sex but did not consent to sex w/ someone who is HIV+

· Court held this was a battery – like you’re defrauding someone into consent

· Rule: If you commit an act consented by P( Battery 

· Acts of different character- consent to specific act. Not a diff act 

PART 2
NEGLIGENCE (state of mind not relevant) 
I. Why sue under negligence and not intentional tort? Longer SOL and cap tap into D’s insurance

II. Negligent conduct is conduct that is unreasonably risky from the perspective of a reasonably prudent person in similar situation (reasonable person would have foreseen harm)

III. Negligent conduct = Duty + Breach of Duty

IV. Elements (P had burden to prove all 5 elements)
a. (1) Is there a duty? (question of law for the judge) 

b.  (2) Breach of Duty (question of fact for jury) 

c. (3) Actual Harm Suffered (Fact question for jury, measuring harm in $) 

d.  (4) D’s negligence was a factual cause of the injury (aka “but-for” cause) (Q of fact for jury) 
e. (5) D’s negligence was the proximate cause of the damage (Aka within the scope of liability) (jury question) 
PRIMA FACIE CASE OF NEGLIGENCE 

I. DUTY 

a. Does a duty exist?  

b. If so, what is the duty (standard of care) 

i. RPP- Reasonable and prudent person under the same or similar circumstances as the tortfeasor was in when the tort occurred.

ii. The care employed by a reasonable man must be proportionate to the danger of the activity
c. DANGEROUS INSTRUMENTALITIES ( taken into account
i. Stewart v. Motts: P badly injured when helping D change a gas tank at his auto shop. 
1. Court held there is only one standard of care (RPP) and it doesn’t go up or down with the dangerousness of the conduct. Only thing that changes is level of care required to meet standard. 
2. In a more dangerous task, a RPP will hold a higher degree of care. 
3. Reasonable person would obviously take greater caution w/dangerous instrument

d. PHYSICAL IMPAIRMENT ( taken into account
i. Shepherd v. Gardner (woman bad eyesight trips on uneven pavement)
1. Court held a person is held to a standard of care of a reasonable and prudent person with the same physical disability (same physical characteristic) 
e. SUDDEN DISABILITY( if it’s not foreseeable, no liability
i. The standard remains the same but the question is would a RPP under the same or similar circumstances with the actual knowledge of the tortfeasor have done something different. 

1. i.e. previous knowledge of seizures= more likely to be negligent if you drive but experiencing first seizure while driving is not likely to result in negligence 

2. Burden on D to prove sudden incapacitation (i.e. not foreseeable)
f. MENTAL DISABILITY/ DEFICIENCY( not taken into account
i. Can be held liable for intentional torts and negligence (person’s mind not relevant for negligence)
ii. Founded on public policy consideration
iii. Creasy v. Rusk—D, Alzheimer’s patient hits caregiver. Court held patient didn’t owe a duty of care to caregiver. 
1. Mentally ill person may be held liable here because of the notion of “Assumption of risk” (consent) by the caretaker, but doesn’t mean can’t be liable at all. 

2. Duty of care is one-way street rom caretaker to patient not the other way around
g. ACTOR’S KNOWLEDGE AND TRAINING & PROFESSIONALS(taken into account
i. Hill v. Sparks—D was experienced operator of dirt scraper and was driving the machine when he runs sister over, killing her. Court held that if the D has more knowledge and experience than usual, then the RPP is given these characteristics. 
1. Compared to an RPP with same level of training/experience/knowledge 
2. RPP is compared to someone else who has these superior qualities 

h. SUDDEN EMERGENCY 

i. Posas v. Horton—P had to unexpectedly stop to avoid hitting pedestrian and D, driving tailgating, rear-ended her. Judge gave sudden emergency instruction to jury. Jury rules for D; P appeals. 
1. Court here determined instructions were improper because, although correct, it didn’t apply to the facts of the case and confused jury into thinking there was a sudden emergency when D negligently created the emergency. 
2. Emergency= sudden, unexpected and unforeseen to you and call for immediate action 
a. Must look at whether D created the emergency or was simply reacting to it

3. JX split: sudden emergency instructions rarely given because the emergency is part of the circumstances in the RPP standard, but some states still allow it. 
i. CHILDEN ( taken into account: “child” standard of care
i. General rule: Held to the standard of a child of the same age, intelligence, and experience under the same or similar circumstances. 

ii. Exception: child engaging in a dangerous adult activity such as driving a motorized vehicle, held to the adult standard of care 

1. Stevens v. Veenstra: 14 y/o who graduated HS early driving class. Hit pedestrian during driving class. Court held driving car= adult activity 

iii. In most states children under 3 are incapable of negligence. 

1. Child standard used for kids 3-15 y/o

j. NEGLIGENCE PER SE (Negligence in and of itself) 
i. Fits in with Duty and/or breach 
ii. Non-tort statue, ordinance, regs passed by legislature silent on tort liability. Question is- should judge use the “standard of care” in the statute to replace the RPP standard? 

1. Statute: “need to keep your dog on leash while in public.” Fine $250 if person doesn’t abide.  

a. Statute silent as to liability if dog bites someone when not on a leash. 

b. This isn’t a tort statute. Tort statutes specify liability if someone is injured. If it was a tort statute, we wouldn’t have negligence per se. 

c. P would argue yes for both elements; D will argue no- statute is simply designed to protect dogs from crapping on their lawn. 

2. Martin v. Herzog: D, driving at night crossed over center line and struck a car occupied by decedent, killing him. D argued decedent was negligent in driving w/out lights (violated light statute). 
a. Appellate cour- TC instructions were erroneous, lights being off is not mere evidence of contributory negligence, it is negligent per se.
b. If jury finds statute was violated (lights were off), that means there was a breach of duty. 
c. Unexcused violation of non-tort statute that applies= negligence per se
iii. Test of Relevance (P must prove statute was violated and P fits within both; if not, no negligence per se) 
1. (1) Type of harm 
a. Was this statute intended to prevent the type of harm that occurred? 

i. P trying to prove the type of harm P suffered is the type of harm the statute intended to prevent (falls within the circle)

ii. D is trying to show type of harm P suffered does not fall within the statute (falls outside of the circle) 

b. O’Guin v. Bingham County: 2 kids entered landfill. Entrance not fenced off or obstructed; section of the pit wall collapsed and crushed children. P claimed D was negligent per se for violating statutes/regulations that required unattended landfills to be fenced off/obstructed. Statute passed with intent to keep unauthorized persons from accessing site to promote human health and other objectives.
i. A violation of a statute or regulation may constitute negligence per se and establish duty and breach elements. A person’s conduct will constitute negligence per se only if (1) the statute or regulation clearly defines the standard; (2) the statute or regulation is intended to prevent the type of harm caused; (3) to protect a class of persons of whom the plaintiff is a member; and (4) the violation proximately caused the injury. Court held all 4 elements were met. 
ii. Criminal statute: unlawful to not block landfill 
iii. Sets up standard of care ( needed to have attendant on duty or fence/block off landfill 
iv. Protection of human health ( includes injury/death to people on the grounds 
2. (2) Class of Persons 

a. Is the plaintiff in the class of persons the statute is designed to protect? 

i. P trying to prove P falls within that circle 

1. Can’t just argue statute seeks to protect general public, needs to be more specific group. 

ii. D trying to show P does not fall within class of persons 

1. Show the category is narrow 
iv. Jx Split
1. Majority: unexcused violation of applicable non-tort § is negligence per se

a. statute passes “type of harm” and “class of persons” sets standard of care... 
b. The statute itself sets standard of care, supplanting RPP standard & violation of statute establishes duty and breach  
c. D’s only argument if a valid excuse 
2. Minority: Doesn’t set standard of care, jury still needs to decide how RPP/SSC would have acted, but violation of § is evidence of negligence for jury to consider 
a. violation may prove an excuse (defense)

3. CA Rule: when a statute applies and D violated it, the failure of D to exercise due care is presumed. The burden is then placed upon D to rebut that presumption.
v. EXCUSES (jury decides if excuse is valid)  


1. Getchell v. Lodge: D, driving on ice-covered hwy under speed limit. Moose walked onto hwy & D slammed on brakes, causing car to spin out onto other side. D hit P driving in opposite side. P claimed negligence per se on the ground that P violated state statutes prohibiting drivers crossing onto other side of hwy. 
a. Negligent conduct excused because of EMERGENCY; actor’s conduct in avoiding emergency must still be non-negligent for the excuse to apply.
2. Third Restatement list of excuses 
a. Violation is reasonable in light of the actor’s childhood, physical disability, or physical incapacitation; 
b. Actor exercises reasonable care in attempting to comply with the statute;
c. actor neither knows nor should know of the factual circumstances that render the statute applicable;
d. Actor’s violation of the statute is due to the confusing way in which the requirements of the statute are presented to the public; or 
e. Actor’s compliance with the statute would involve a greater risk of physical harm to the actor or to others than would noncompliance 
vi. NON-EXCUSES

1. Ignorance of the law 
2. People customarily violate the statute

vii. CHILD’S STANDARD IN NEGLIGENCE PER SE CASES: 

1. A minor’s violation of a statute does not constitute proof of negligence per se, but may, in proper cases, be introduced as evidence of a minor’s negligence.
viii. COMPLIANCE WITH STATUTE (under breach??) 
1. Compliance with regulation is not a defense. It is simply some evidence of reasonable care (jury will be told to take into account) 

a. Circumstances may require greater care, if D knew or should have known of some risk that would be prevented by reasonable measures not required by the regulation. Negligent if they did not take such measures.
II. BREACH OF DUTY 

a. Breach= conduct that falls below the standard of care. Conduct that is riskier than the conduct a RPP would have engaged in under SSC. 
b. Would a RPP/SSC have engaged in alternative conduct b/c of the foreseeable unreasonable risks of harm?
c. To establish negligence, P has to identify specific conduct that breached that duty + alternate conduct that an RPP would have taken 
i. Consider foreseeability, facts, knowledge/conduct/expertise of P, social utility of D’s behavior, magnitude of harm, alternatives, obviousness of danger

d. PROVING CONDUCT 

i. Only when you can identify the negligent conduct can you claim breach of duty
1. P can’t just say D was negligent, need to be specific (i.e. D driving too fast) 
ii. If P can’t identify what D did, also means can’t identity alternative conduct & risk of the conduct engaged in because again, don’t know what D did 

iii. Santiago v. First Student: P rode on school bus that collided with another car. P brought negligence claim but couldn’t remember any details (location of accident, actions of either bus drive or other motorist & no witnesses). 
iv. Generally, mere happening of an accident is not evidence of negligent conduct, need to have witnesses or evidence to prove breach of duty. 
1. Circumstantial evidence okay 
2. Witnesses testify as to facts, facts that they are aware of, they can’t give opinions 
3. Expert witnesses can give opinion but it’s a big hurdle for a court to allow expert witnesses 

4. If there is contradicting evidence, jury decides what testimony to believe 

e. FORESEEABILITY OF RISK
i. Pipher v. Parsell—P and two Ds driving in a car when D1 grabs wheel and makes car swerve. D1 again grabs wheel making them crash into tree. Question is whether D was negligent. 

1. The first wheel grab bc unforeseeable, no negligence. However, second wheel grab was foreseeable and driver (D2) should have known. Should have admonished D1, had her go to the back, and warned her he’d kick her out. 

2. Court held that a reasonable jury could find that the conduct was foreseeable and that the driver breached a duty to his passenger 
f. UNSTRUCTURED WEIGHING OF THE RISKS AND COSTS 

i. Indiana Consolidated v. Mathew—D burned down garage with lawnmower. P alleged 3 specific actions were negligent: (1) spilling gas in the garage; (2) starting mower inside garage; (3) failing to push burning mower of out of garage. 
1. In order to analyze the conduct of an RPP (burden of alternative conduct), balance risks in the actual conduct against the risks of the alternative conduct. If the costs of the alternative are higher, an RPP would not have acted differently and thus, no breach. 
ii. Barnes v. US—P fell while taking off shoes at TSA. Court held there was no foreseeability of the risk (records showed this had never happened) and the burden of the alternative (providing chairs) too high (expensive to provide chair when risk isn’t high). 
iii.  Stinnett v. Buchele—P hired to fix roof and fell. Argued D’s failure to provide safety gear was negligent. Court held D not negligent in asking P to work on the roof because he is not obligated to provide absolutely safe instrumentalities or workplace. 
1. Employers have a general duty to furnish a safe workplace and safe tools (not to eliminate all risk
2. Additionally, employer’s liability rests on the assumption that his knowledge is greater than employees but when employee is just as knowledgeable or better, D not held responsible. P was in the best place to protect himself. 
a. Okay to assume that (unless D put on notice), P will care for himself 
b. Expecting care by third persons 
i. Unless put on notice, no duty for third persons to care for others 
1. i.e. Adults to care children when parents are presents 
g. STRUCTURED WEIGHING OF THE RISKS AND COSTS 
i. US v. Carroll Towing Co.—Barge broke away from tug and sank. No bargee on board. Court used risk-utility balancing: B<P x L (A person only does something differently if the burden (B) is less than (PxL) the risk of what you’re doing already). 
1. B= Burden/cost of alternative conduct 
2. P= probability of harm from the conduct engaged in 
3. L= foreseeable extent of liability for the conduct engaged in 
ii. Certain amount of risk is reasonable based on the cost of the burden/harm 
iii. D need only to consider the risks that would be taken into account by a reasonable person (foreseeable risks)
h. PRIVATE STANDARDS 
i. Private standard admissible to help show foreseeability/risk, feasibility of precautions, P’s reliance on type of care but doesn’t set the standard of care.
i. CUSTOMS


i. Don’t set the standard, but they are relevant. Custom used in 2 ways: 
1. (1) sword: where P argues D acted against custom. 
a. P uses custom to show it was feasible for D to engage in alternative conduct (prove harm was foreseeable & conduct was a recognizable risk)
b. Deviation from relevant safety custom can serve as evidence of negligence
2. (2) shield: where D used custom as a defense. 
a. By complying with custom, D could argue he was not acting negligently 
b. Compliance with relevant safety custom can serve as evidence of due care
ii. Duncan v. Corbetta—P fell down uncustomary non-pressured wooden staircase. Court held TC erred in not admitting P’s expert testimony re: customary wooden staircase because proof of a general custom tends to establish a standard by which ordinary care may be judged. 
1. D who complied with all the safety requirements of a statute might still be negligent if he failed to follow a safety custom. 
2. Custom evidences foreseeability of the risk (people do it a certain way for a reason) and feasibility of the alternative (if others can do it, so can you)
iii. The TJ Hooper—barges lifting cargos of coal were towed by D’s tugs. They were lost and P sued D for the lost barges. Court found vessels were not seaworthy because not equipped with radios to warn them about weather. 
1. D argues they acted customarily because tugs did not normally equip. Court rejected this argument because custom doesn’t set the standard. 
2. there are precautions so imperative that even their universal disregard will not excuse their omission 
j. SLIP & FALL CASES (not res ipsa) 
i. Thoma v. Cracker Barrell—P slipped on water at CB. P claimed she noticed an area 1 foot by 2 feet containing drops of clear liquid. She was in the restaurant about 30 minutes before accident and during this time saw no one drop anything. No witnesses. Jury allowed to draw inferences from the evidence – enough proof to draw reasonable inferences from the facts. 
ii. P can show negligence by proving any of the 3 theories of liability: 

1. (1) D created and failed to take reasonable actions to abate the hazard
2. (2) D didn’t directly create the condition but discovered or should have discovered a condition created by others (constructive notice) and failed to take reasonable steps to prevent injury from that condition
3. (3) D’s mode or method of business operations made it foreseeable that others would create a dangerous condition, and the D failed to take reasonable measures to discover and remove it
iii. Can be established by circumstantial evidence. Making inferences
k. RES IPSA LOQUITOR (“the thing speaks for itself”)
i. Dealing with cases where the allegedly neg act by the D is unknown and unknowable. P cannot figure out what happened but how else could it have happened?
1. D’s negligence was more likely than not the cause of P’s injury.
ii. Byrne v. Boadle: P walking and a barrel fell hit him in the head. Appeared to have fallen from D’s shop, but we don’t know what happened (someone intentionally pushed it out, fell out accidentally, etc.). Some witnesses. 
1. Court- Barrels typically do not fall out of windows w/out some sort of negligence. Negligence by D is presumed by the mere fact of the occurrence. If any facts exists that are inconsistent with negligence, it is D’s responsibility to prove them.
iii. THREE APPROACHES TO RES IPSA LOQUITER
1. Traditional Common Law Approach: P must prove 
a. (1) Accident is of a type that ordinarily does not occur without negligence 
i. Most cases can’t pass this element 
b. (2) Instrumentality that injured P was under Ds exclusive control
i. Exclusive control doesn’t mean literally 
1. E.g. if P riding an elevator and person operating the elevator (D) wasn’t in exclusive control over it 
2. If instrumentality is more or less accessible to public, many persons could have interfered, so ∆ is not literally in exclusive control

A. Some courts bar the claim; others do not 

c. (3) Injured person did not contribute to the injury
2. Second Restatement: (majority– at least 35 states)
a. (1) Accident is of a type that ordinarily does not occur without negligence 
b. (2) Other responsible causes are sufficiently eliminated by the evidence 
i. including P’s conduct and other 3rd parties
ii. possible for the P to be contributorily neg and D still be sued for res ipsa loquitor neg (reduces recovery) 
c. (3) Indicated negligence is within the scope of Ds duty to P
i. connects the D to the act 

ii. the problem is that P can’t identify what D did, so this is a way for the jury to be able to infer that D’s negligence was involved here 

3. Third Restatement: Negligence can be inferred when:
a. (1) Accident is of a type that ordinarily happens as a result of the neg of a class of actions D is in 
iv. Procedural Incidents and Effects of Res Ipsa Loquitur
1. From cases that go to jury on res ipsa, a very low %  actually result in P winning. 

a. If P can’t prove what the D did, likely can’t prove any of the neg elements. 

b. Despite this, res ipsa loquitor gives P settlement value. 

2. (1) Procedural process followed by majority: 

a. if elements of res ipsa met, judge instructs jury that they may draw an inference of negligence, not must. permissible inference
3.  (2) A different procedural process (**California approach**) 
a. Minority (CA): If elements of res ipsa met, presumption is that ∆ was negligent, but ∆ can then rebut this with evidence that he was not negligent. rebuttable presumption
i. Usually more favorable to π & can recover more 
v. Koch v. Norris Public Power District: D’s high-voltage power line fell causing a fire damaging P’s property. Weather was sunny and dry, winds were normal + inconclusive evidence that line might’ve been shot by a bullet but other evidence suggests it didn’t fall because of it. 

1. Holding: P may rely on res ipsa because power lines don’t normally fall without fault if company maintains them (1st req of the traditionally test)  

2. also connects the D to the accident. 

a. “If the line falls without explanation, it must’ve been negligently constructed or maintained.”

b. If D has an explanation of what happened (tornado), that is not a fault of D, then he could escape neg, 

i. In analysis, D would try to identify others reasons why something happened. P would try to prove there were no external factors.  

3. “seems clear that power lines should be built and maintained so they do not fall without the intervention of nature or a person” 

a. seems to get at 3rd requirement of 2d – (3) indicated neg was w/in scope of D’s duty to P 

vi. Cosgrove v. Commonwealth Edison Co: on a stormy night power line was seen to spark and fell. Fire erupted (because of leak in gas line that sparks ignited) injuring Ps. 

1. Holding: P cannot rely on res ipsa loquitor as to the electric company but may rely on it as to the gas company. 

2. Other forces besides negligence may have caused the fallen power line such as wind, lightning storm, BUT, a ruptured gas line causing the fire to occur doesn’t normally happen without negligence. 
a. Conflicting with Koch court. Maybe has to do with weather – Koch was sunny and dry; here, there was a storm. 

b. There is no hard data in either of the cases; judges are treating it as a matter of common sense based on common experiences in life. 
i. this isn’t a jurisdictional split, just a matter of common sense. 

vii. Warren v. Jeffries: D’s car parked on an incline at V’s home. D gave children’ss mother the car keys to go to the store. Mother was in the house, while five children, including V, climbed into the rear of the car. No one touched any of the control mechanisms of the car. V last to enter. When he closed door something clicked and car started rolling backward. Kids jumped out, when V jumped, he fell, and front wheel ran over his chest. No evidence as to why/how the car started rolling backwards. P’s arguments: D neg in (1) not setting hand break; (2) failed to engage the transmission – wasn’t in ‘park’ all the way; and (3) neglected to maintain adequate brakes as required by statute 
1. Court’s response: all of P’s theories are not corroborated by evidence bc didn’t investigate. Therefore, res ipsa loquitor cannot be used. 
a. Not enough to say there is no evidence; have to be able to say you can’t get evidence of it 
2. Must do the investigation and only in the case that no evidence is possible (no means of knowing), then can rely on res ipsa loquitor. 
3. Traditionally, a P who produced some evidence of what D did and how accident was caused CANNOT use res ipsa loquitor.
a. This is not the majority rule anymore. 
b. If there is partial evidence, P can still use res ipsa loquitor as long as evidence doesn’t provide complete explanation of accident
4. Res ipsa loquitor is a last resort of proving your case; the stronger your case the less likely you’ll want to use res ipsa 

viii. Giles v. City of New Haven: P injured when an elevator he was operating shook and he jumped out. P reversed direction of elevator after chain failed. The facts indicated D installed elevator sixty-one years prior to the accident. 
1. Testimony: investigation conducted, chain became slacked and hooked on something, causing elevator to shake. Don’t know why that happened, or who was responsible. 

2. P’s argument: D negligent in maintaining elevator properly causing chain to become slack, which led to everything else. 
3. D’s argument: P caused accident by reversing elevator’s condition too quickly. 
4. P and D agree on 1st requirement of RIL
a. (1) type that ordinarily does not happen in the absence of neg

5. Debate over Rst. 2d and traditional test 2nd requirement

a. (2) other responsible causes sufficiently eliminated by the evidence (exclusive control by the D); That is no other party was involved 
6. Holding: Appellate court concluded P had presented sufficient evidence to bring claim of negligence under doctrine of res ipsa loquitur to jury.
7. Giles reflects a contemporary view of the control rule. 

a. Modern approach: Exclusive control, even in states that continue to use traditional test, is not interpreted literally  
i. Here, bust because P was operating elevator doesn’t mean D couldn’t have been in exclusive control. D controlled maintenance & repairs. 
b. Control elements is to establish D was more likely to have caused problem, not someone else. 
i. When an instrumentality is accessible to the public, numerous persons may have interfered with it, so D not literally in exclusive control. 
1. In some cases, courts bar the claim, other do not. 
ix. Res ipsa and “ordinary accidents” that often occur without negligence 

1. Slip and fall and automotive accidents are NOT res ipsa cases 
x. Summary on Res Ipsa Loquitor  
1. Applied to cases where there are virtually no facts 
2. Establishes duty & breach but still need to prove other elements 
3. If you know what the D did, then it is NOT A RES IPSA CASE 
a. Don’t argue res ipsa on test if the fact pattern reveals what D did 
b. Address the fact that it’s not and move on 
III. ACTUAL HARM 
a. P must suffer “legally cognizable” harm & prove it (actual harm)
i. If D acts carelessly but no harm, law doesn’t care, P will lose
b. Physical harm: Physical impairment of the human body, real property, or tangible personal property.
i. Any detrimental change in physical condition. No requirement that the detriment is major. 
ii. Pure emotional or pure economic harm without any physical injury to person or property may not be considered legally cognizable in a negligence action. 
iii. Proven physical harm satisfies the actual harm requirement of a negligence PFC

c. Damages:
i. Compensatory: Past & future medical expenses; loss of wages or earning capacity; pain & suffering (including emotional harm), & damages for any other special needs

ii. Nominal Damages: Damages in name only – usually one dollar or six cents. Usually not recoverable in most jurisdictions (unlike intentional torts)
iii. Punitive damages generally NOT recoverable in a negligence case, b/c entitlement depends on proof of the P’s bad state of mind, not a question in negligence. 
d. FACTUAL CAUSE (Factual cause is sort of unlimited- extends to most cases)
e. Factual Cause = actual cause or cause in fact by ∆
TWO Tests:  
f. (1) First apply—"But-for” test: But for ∆’s negligent conduct, would the harm have occurred?

i. P need only show harm would not have occurred but for D’s negligence 
ii. FC is not established if P’s harm would’ve occurred even if D had acted non-negligently. 
iii. But-for rule requires judge/jury to imagine an alternate scenario—what would have happened w/o D’s negligence
g. “Ordinarily a cause is a “factual cause” only if it’s a but-for cause,” although there is a potential exception …when there are multiple causes.”
h. Hale v Ostrow— (overgrown brush, P trips on loose concrete to get to the street)
i. D owed a duty of RPP/SSC; P was a foreseeable person, walking pedestrian 
ii. Breach of duty: bush grew across sidewalk, preventing P from passage 
iii. Actual harm: fell & broke hip 
iv. Court held-- P need only show harm would not have occurred but for D’s negligence. Direct causation not required by “but for” test. 
i. Salinetro v. Nystrom—Court held, assuming D was negligent in failing to discover P’s pregnancy, this negligence was not the cause of P’s injuries. P testified that if D had inquired about her pregnancy, P would have stated she was not pregnant. Regardless of D’s failure to ask about P’s pregnancy, the harm to the fetus would have occurred. 
i. Duty - D clearly owes P a duty to do things in a proper medical way

ii. Breach of Duty – Failing to ask if she was pregnant (P alleged this; court didn’t decide)

1. Should have said: D performed x-ray incompetently b/c didn’t order preg. test

iii. Actual Harm – Loss of child

iv. Factual Cause – No RPP could think failing to ask if pregnant CAUSED the loss. 

1. But-for: If alleged negligent act was failing to ask whether she was pregnant, what is the alternative conduct a reasonable doctor would have engaged it? 

2. P alleging a reasonable doctor would have asked, but everything would’ve proceeded the same way if doctor had asked ( omission not factual cause of injury
j. Jordan v. Jordan - Woman backed out of driveway w/out looking in rearview mirror. Husband was squatting behind the rear bumper, where she wouldn’t have seen him anyway.
i. P alleged negligent act “failure to look in rearview mirror.” Could be a breach of duty because a RPP/SSC would have looked in rearview mirror.
ii. BUT, this was not a factual cause bc even if she’d looked, she wouldn’t have seen him. 
iii. Need to frame breach of duty, not in the abstract, but in a way that will meet the rest of the negligence test!
1. P could have instead said: “D failed to look in side mirrors” or check behind car
2. D could have been negligent himself: could have heard car start and not moved; a RPP/SSC would have
k. Two persons causing separate or divisible injuries: causal apportionment. 

i. Under the but-for rule, more than one actor’s conduct can be causal. 

1.  A may cause a broken arm while B causes a broken leg. 

ii. So far as the two injuries are separate, liability can be apportioned by causation. 

1. Each person will be liable for the harms that tortfeasor caused and no more. 

l. Landers v. East Texas Salt Water Disposal Co. P owned a lake. D1 pipelines broke &salt water flowed into lake, killing fish. D2, on about same day, spilled salt water & oil, flowed into lake, killing fish. P asserts both were negligent. Ds didn’t act in concert. Problem: can’t tell who’s spill caused what damage on plaintiff’s property 

i. If you use the “but for” test both escape liability; 

ii. Sun Oil if they hadn’t acted negligently would fish have died anyways? ( Yes (same argument for East Texas) 

iii. If but for causation fails, check the box, move on, but don’t hold parties not liable

m. (2) Substantial Factor Test (apply when “but for” fails) (dominant doctrine, rejected by 3rd)
i. When 2+ tortfeasors cause indivisible harm, there is joint & several liability
1. Prima facie case has to be proven against each defendant
2. RULE: It is a cause in fact if the act was a material or substantial element in producing P’s harm. 
n. Summers v. Tice (CA case) Ds were hunting, both shot in P’s direction. One shot struck P in the eye. Problem, we know one D shot him, but don’t know which one. 
i. But for fails: Even if D1 had fired his gun in non-negligent way, P would have still been hit. However, here, only one hit P, so if one of them wouldn’t have done it, P wouldn’t have been injured. Either D1 injured P or D2.
ii. Court holds both liable bc even if D1 didn’t injure P, his action encouraged D2 and his actions prevent P from proving D2 injured him, vice versa. Or D1 did injure P.  
iii. Held joint and severally liable; Not like E. Texas where both parties independently would have caused harm to lake and fish. 
iv. *Not a res ipsa loquitor case because we know what defendants did, just don’t know which one did what 

v. Rst- When P sues multiple Ds & proves each engaged in tortious conduct that exposed P to risk of harm & the conduct of one or more caused P’s harm, but P cannot reasonably be expected to prove which D caused harm, burden of proof on factual cause shifts to Ds. 
1. However, holding 6 D’s accountable when we know only 1 caused it, is unfair. 
o. Multiple Causes & Apportionment- 2+ ∆ (Question is which fault-appointment rule to use)
i. Π has to prove prima facie against each, separately (duty of care (RRP/SSC or SOC, etc.) & breach of duty (what each did) could be different depending on ∆

ii. Joint and several liability state (Traditional Rule-Pro π) 
1. Each D is apportioned an amount but if one D can’t pay, other D has to pay all 

2. If D1 overpays, he can sue D2; Either both or someone has to pay it all

iii. Several Only (New Rule- Pro ∆) 
1. A judgment for each D found liable. ∆s can’t owe more than their percentage.
a. If one D can’t pay, P will not be able to recover full loss. 
2. 3 Ds liable, 3 judgements. Jury will fix %. 
iv. CA approach  

1. Uses a combination of both. 
2. Economic damages (medical, wage loss, earning capacity, special damages) ( apply joint & several  (P entitled to recover 100%) 
3. Pain & suffering( apply several liability (P pay lose out on a % of recovery) 
IV. PROXIMATE CAUSE/SCOPE OF LIABILITY 
a. Liability limited to harms within the foreseeable risks

b. This comes up when there are a lot intervening act or something odd is happening (i.e. Hayden late to class, I brake arm) 
c. Not the meat of analysis 

d. ELEMENTS 
i. (1) P must be in a class of persons reasonably foreseeably risked by D’s negligent conduct and 

ii. (2) The type of harm P suffered is a type of harm reasonably foreseeably risked by D’s negligent conduct 

1. Precise manner & extent of harm need not be foreseeable (majority) 
e. JX split- A number of states say this is part of the duty element (i.e. that a duty is owed only to a foreseeable plaintiff; question of law) 

f. The Rescue Doctrine 

i. Rescuer can recover from D when D’s negligence prompts rescue, if rescuer had a reasonable belief victim was in peril (D should have foreseen another person try to rescue)

1. Duty is owed to a rescuer because that is a foreseeable P 

2. includes cases where D negligently injures/endangers himself and P is injured in attempting to rescue 

g. Thompson v. Kaczinski—D disassembled trampoline. Storm blew it & it ends up in road. P swerves to miss it, damaging his car. D claimed no duty bc risk of trampoline moving from yard to middle of road was not foreseeable. TC granted D’s motion to dismiss. 
i. Duty ( yes (RPP/SSC) owe a duty to everyone; breach—alternative conduct 
ii. Proximate Cause: Fulfills class of persons test 

iii. Type of harm could be reasonably foreseeable (jury; reasonable people could differ) 
h. Hughes v. Lord Advocate—Manhole left open, uncovered surrounded by lanters. Boy 

drops lantern, big explosion. Boy is burned.

i. Burning injuries was foreseeable as a result of leaving lanterns unsupervised

ii.  Precise manner need not be foreseeable as long as general type of harm is foreseeable
iii. For exams, Under ruling in Hughes, you’d describe the harm that occurred (i.e. burning injury; doesn’t matter how it happened) 

i. Doughty v. Turner Manufacturing Co., Ltd—Negligently allowed lid to fall into vat of liquid that caused the harm. No liability found. 

i. P in class of person foreseeably risked (standing right by the vat) 
ii. Narrow the type of harm so it is not foreseeable (defendant arguing foreseeable type of harm is splashing not chemical reaction explosion) – court agreed with this 
j. Hammerstein v. Jean Development West—P twisted ankle and got a blister (turned gangrenous bc diabetic) when had to walk down stairs of hotel during faulty fire alarm. 

i. Foreseeable that if fire alarm system was unreasonably faulty, harm to a certain type of P, a guest, could result. Type of harm, injuring foot on the way down the stairs, is foreseeable in these circumstance. Extent of harm may not have been foreseeable, but underlying injury should’ve been.
ii. Thin Skull Rule: D takes P as he finds him. Liable for injuries that were not foreseeable because of P’s thin skull, weak immune system, disabilities. If P has a preexisting conditions that is no defense, D liable for any aggravation of preexisting injury. 
k. Superseding/ Intervening Cause: ∆1 negligently risks harm to π; then ∆2 negligently harms π; ∆1 argues that ∆2’s conduct was a superseding, intervening act 
i. Old Rule: If ∆2 acted criminally or intentionally, ∆1 not liable 
ii. Modern Rule: 
1. Did ∆1 contribute to (D2s) 3rd party criminal/intentional/negligent attack? (AKA was intervening act of ∆2 a foreseeable risk of ∆1’s negligent conduct?)
a. If yes, then that was a type of harm risked and ∆2 did not break the chain & ∆1 is still liable
2. No rule that says passage of time breaks the causal chain, but more likely that a jury would not hold ∆1 liable if there was a long passage of time between ∆1’s act & ∆2’s
3. If by the time ∆2 comes along, whatever risks originally created by ∆1 have been terminated, ∆1 can be free from liability
iii. E.g. D2 attacks P in parking lot of a commercial building owned by D1
1. P sues D1 (maybe bc D2 doesn’t have money) claiming inadequate security
2. Question: was D1’s neg in not providing adequate security create a risk of an intervening actor causing the type of harm D2 caused? 
iv. Marcus v. Staubs—D claimed several intervening causes: Girls’ illegal consumption of alcohol, stealing a car, Misty’s reckless drunk driving. 

1. Tortfeasor whose neg is a substantial factor [factual cause] in bringing about injuries is not relieved from liability by intervening acts of 3rd persons if those acts were reasonably foreseeable by original tortfeasor at the time of his neg conduct” 
a.  Reasonably foreseeable that if he bought minors alcohol, they’d drink it and chaos would result.
v.  Collins v. Scenic Homes: D constructed apt. building using unlicensed architect and didn’t comply with fire codes (neg. per se). 20 year later, fire erupted and V died.

1. Issue: was D2’s criminal and intentional act a superseding cause of P’s injuries, relieving D1 from liability? Old rule, yes. New rule, maybe.
a. What occurred was a reasonably foreseeable risk.
i. It is foreseeable that injuries will happen if building not properly equipped with fire-retardants and escape mechanisms.
ii. Passage of time is not irrelevant. But risk created is still in operation even 20 years later. Reasonable people can differ on this question.
vi. Williams v. State—Mentally ill patient committed to hospital for violence toward women, required to have supervision at all times, was left alone in bathroom and escaped. Didn’t report escape to police. Two years later, he attacked a woman. 
1. Court determined there was a “temporal dimension” and, thus, no liability.
2. No rule that says passage of time breaks the causal chain (case-by-case) 
3. Exam: ask whether you’d be reluctant to hold D1 liable bc of long passage of time.
a. E.g. in Collins, 20 years passed makes it unlikely that jury would hold D1 liable. Why P moved for SJ; knew unlikely they’d win in front of a jury.
vii. Derdiarian v. Felix Contracting Corp.—D1 didn’t set-up proper barrier around excavation and a driver, D2, who failed to take his meds had a seizure and hit P. 
1. The focus in on whether the intervening act (rather than the type of harm) is a foreseeable consequence of the D1’s neg conduct
2. “If intervening act is extraordinary under the circumstances, not foreseeable in the normal course of events, or independent of or far removed from D1’s conduct, it may well be a superseding act which breaks the causal nexus.”
3. One of the risks of inadequate barriers in a road worksite is that a car will run into it and injure people
4. “an intervening act may not serve as a superseding cause, where the risk of the intervening act occurring is the very same risk which renders the actor neg.” NOT talking about the precise manner. 
a. Precise manner need not be foreseeable (D arguing it was not foreseeable someone would fail to take meds and crash into area)
b. General type of harm was foreseeable(car running into worksite
viii. Ventricelli v. Kinney System: D1 leased P a car w/defective trunk. P parked while he attempted to shut the defective trunk lid. Another motorist (D2) strikes P.
1. D1 NOT a proximate cause of the harm of P’s harm as a matter of law:
a. D1 didn’t place P in a position of danger. P standing in relatively safe place, parking space. Could’ve been there regardless. 
b. Intervening act of neg by D2 was not reasonably foreseeable 
i. D1 couldn’t have foreseen the collision between 2 cars parked for a brief interval before the accident
ix. Marhsall v. Nugent—P a passenger in a car driven off the road by D1; D2 swerved around the truck blocking the road and hit P
1. Termination of risk:  Another reason a court might find D1 free of all liability is that whatever risks originally created by D1 have terminated; they have ended
2. After those risks end, D2 comes along since no risks by D1. D2 is entirely liable
l. SUICIDE 

i.  Situation where D created neg risks to P and P commits or attempts suicide. 
ii. Traditional rule (majority rule) –suicide/suicide attempt is always a superseding cause of a P’s harm, freeing D from liability for neg bc it is unforeseeable as a matter of law
1. Two Exceptions:
a. (1) where D’s tortious conduct induces a mental illness or “uncontrollable impulse” in P from which the suicide or the attempt results
b. (2) special relationship exists between the two parties that presumes or includes knowledge by the D of P’s risk of committing suicide
i. E.g. psychiatrist/patent; guard/prisoner
iii. Minority: no categorical rules on suicide, instead case-by-case foreseeability test  
1. Can find proximate cause where a D’s neg created a foreseeable risk of suicide or attempt. Scope of duty and scope of risk
I. DEFENSES TO NEGLIGENCE 
a. Asserting defenses 
i. First go through PF case for negligence then assert defenses 
1. “Even if the elements are met, shouldn’t be liable because…” 
b. Three major affirmative defenses to a negligence claim

i.   (1) contributory neg
1.  (a) complete bar (Butterfield) – traditional rule (4 states + DC)

2.  (b) comparative – majority rule today (46 states)

a. Pure 

b. Modified 

ii. (2) assumption of the risk
1. Express assumption of risk: a contract (tort contract)(waiver before activity)

2. Implied 
iii. (3) statutes of limitations and repose (SOL for all with a few exceptions like murder) 
I. CONTRIBUTORY NEGLIGENCE
a.  Elements (D needs to prove all 5) 
i. (1) Duty—P owes a duty to himself

ii. (2) Breach of duty—P breached a duty to self

iii. (3) Actual harm—P suffered actual harm (P is suing for this—already alleged in P’s PF case)

iv. (4) Factual Cause—P’s negligent conduct was a factual cause of P’s harm
1. But for P acting negligently P would not have been injured (i.e. riding too fast) 
v. (5) Proximate Cause—P’s negligent conduct was a proximate cause of P’s own harm

1. Type of harm 

2. Class of persons (himself) 

b. Three different approaches to dealing with contributory negligence 
i. *D may try to argue superseding, intervening cause rather than contributory fault so as to avoid all damages. (P’s conduct must not have been reasonably foreseeable) 

1. (1) Traditional/ Butterfield approach:  Only 4 states follow this

2. If π was contributorily negligent, π recovers nothing, even if ∆ was negligent AKA π’s negligence is a complete bar to recovery

ii. Comparative Fault systems: P’s recovery is reduced, but not necessarily barred entirely  
1. (2) Pure systems: Each party is responsible for their respective proportions of fault
a. Ex: P could be liable for 90% & D for 10% liable; P recovers 10%) 
b. No % cut off ( P% + D% = 100%
c. 12 states including NY and CA)
2. (3) Modified systems: (Majority): Contributory neg doesn’t bar recovery if P’s neg was not greater than the neg of the D. Recoverable damages are diminished. 
a. Each party is responsible for their respective proportions of fault unless (in which case, recovery is barred):
b. Two forms: 
i.  P is barred if P’s % is greater than D’s %
ii. P is barred if P’s % is greater than or equal to D’s %

1. If two Ds, P barred if P=50% 

2. Multiple D’s, their % are added up & compared to P’s 
c. Factors to Consider when Allocating Fault (determining percentages—jury)
i. Common Law (Pohl) 

1. (1) Whether the conduct was inadvertent, or involved an awareness of the danger 
2. (2) Magnitude of the risk created by conduct
3. (3) The significance of what was sought by the conduct 

4. (4) The actor’s capacities 

5. (5) Any extenuating factors that might require the actor to proceed with haste  

ii. Restatement 3rd:
1. Nature of the person’s risk creating conduct (awareness or indifference to the risks & any intent the harm created by conduct) 
2. Strength of the causal connection btwn the person’s risk-creating conduct & the harm

d. Mitigation of damages rule

i. P is required to mitigate her damages by reasonable efforts and expenses
1. i.e. P’s foot was bruised by D. P could avoid loss of the foot by taking antibiotics. If P unreasonably refused to take meds and lost the foot, P would not be allowed to recover for the loss of the foot—although she would be allowed to recover for the bruise. 
ii. π is always under duty to mitigate damages but burden on D to prove P failed to mitigate
e. Limits on Comparative Fault in the Interest of Policy

i. Two ways for allocating full responsibility to defendants: 

1. If P did not owe a duty to self 

2. If D’s duty encompasses P’s negligence 

ii. P No Duty: Sometimes P might have “no duty” to act reasonably in self-protection. 
1. If no duty, P cannot be charged with comparative fault in failing to do so.
a. i.e. Children have a limited capacity for self-care 
i. 3rd Rest. precludes comparative negligence of a child under 5 
b. There are statues that impose duty on D to protect vulnerable/ disabled P’s

iii. Bexiga v. Havir Manufacturing Corp.—P operating power punch press machine. Hand is crushed. Machine had no safety device. 
1. As a matter of public policy can’t raise contributory negligence defense. Here, duty of D to include safety devices encompasses protecting P from his own negligence (exact reason a safety device is needed). *Could also argue P didn’t act neg he was working. 
iv. McNamara v. Honeyman—Decedent was mentally ill, confined in hospital. 
1. Where D has a duty to protect P from harm from himself cannot use contributory negligence to bar recovery or reduce recovery if P harms herself. 

2. Note: not usually true that D owes a duty to protect P of his own negligence 
v. Christensen v. Royal School District No— D claimed student, P, was contributory negligent by voluntarily having sex with teacher. 

1. Children do not have a duty to protect themselves from sexual abuse from a teacher 
2. Majority: For public policy reasons, no contributory negligence for sexual assault case w/minors. 
f. Traditional exceptions to contributory negligence bar (When D cannot assert C.N.) 

i. Rescue Doctrine: One who sees a person in imminent danger caused by the negligence of another cannot be charged w/contributory negligence when actor attempts a rescue, unless the rescuer acted recklessly. JX split
ii. Last Clear Chance doctrine: if D discovered or should have discovered P’s peril, and could reasonably have avoided it, P’s earlier negligence wouldn’t bar nor reduce the P’s recovery. 
iii. Discovered Peril doctrine applies these rules only if D actually did discover the P’s peril
1. P could not invoke these doctrines unless P was completely helpless due to her neg 
2. States that have adopted comparative fault systems, have discarded these doctrines 
iv. Intentional, wanton, or reckless defendant

1. Traditional (Butterfield)  rule: Contributory negligence of P is no defense if D was guilty of willful, wanton, or reckless misconduct (in line with Butterfield) 
a. Comparative systems: 
b. Some courts say yes, allow ∆ raise defense—jury decides percentage 
c. Some courts say no, in like with traditional rule 
v. Plaintiff’s Illegal Activity 
1. Traditional (Butterfield): Complete bar  
2. Comparative systems—JX split:
a. No bar, i.e. only relevant for %

b. Only barred if “serious” crime (determined by statute)

3. Rst rejects the principle that tortious or criminal conduct can completely bar recovery
4. Dugger v. Arredondo: Decedent took heroin, smoked marijuana, and drank tequila. Got sick. Dugger, friend, delayed in calling 911 & did not tell police Martinez had injected heroin—he was treated for alcohol poisoning and died. 
a. The fact P acted illegally is NOT irrelevant, it is used to apportion fault, calculate percentages. 

II. Assumption of Risk (Express & Implied) 
a. Express: A person can by K (written or orally) voluntarily and expressly assume the risk (fix liability) 
i. Rule: voluntary contractual assumption of risk will bar any claim for neg within the scope of the K, unless enforcement of the K will violate pub policy.
ii. Analysis for express assumption of risk:
1. (1) Is it valid under K law? Must be clear, unambiguous, and conspicuous
2. (2) Even if valid, does it offend public policy?

3. (3) Does the K cover what happened? Look at scope of release & compare to what happened 

a. (a) Is what occurred an INHERENT risk of the activity?

i. If yes, then the release would bar the claim

ii. inherent risks are those that even with reasonable care, cannot be eliminated.
b. (b) if not, then its unreasonably danger? (question for jury) 

i. release would not bar the claim

iii. Stelluti v Casapenn Enterprises—P injured during a spinning class; bike handles came off. Sued for negligence but before engaging in activity she had signed a waiver. 
1. D envokes express assumption of risk defense. Ct enforces release & finds valid bc:
a. No unequal bargaining power
b. recreational activity + alternatives. 
c. Public interest not harmed by enforcing these agreements 
i. can’t release recklessness or intentional torts (against public policy)
iv. Tunkl v Regents of Uni. of CA: P had to sign a release, absolving D from all liability for negligent or wrongful acts or omissions of its employees. 
1. P “did not really acquiesce voluntarily in the contractual shifting of the risk.” Medical service is essential to P and the public. Will sign anything to receive treatment. P is completely dependent on D. It offends public policy to apply express assumption of risk under these circumstances. K not enforceable.
2. essential activity + no reasonable alternatives
v. Moore v Hartley Motors: P signed a release in advance for a 4-wheel drive safety class. ATV hit a rock on the trial, and P sued. D brings forth the release.  
1. Court held- K was valid and therefore barred the claim.
2. The more like the release in Stelluti, the more likely K will be enforce. 

a. P didn’t have to take ATV class, or buy ATV in the first place. 

b. could have opted not to engage in activity unlike in Tunkl. 

3. The more likely the essential activity in Tunkl, the less likely it will be enforced. 
4. However, may still have recourse if injuries were caused by unreasonable risks or unnecessary dangers that are not inherent.
vi. Parent waiver of child’s claims: jdx split

1. Majority: invalid b/c a child “may or may not have the knowledge and experience to assess and avoid risks of injury created by the activity.” 
2. Minority: disagree with ^ and determine validity on a case-by-case basis. 
b. IMPLIED ASSUMPTION OF THE RISK: 3 Approaches (no majority in implied A/R) 

i. (1) Traditional Rule: π’s claim is complete barred where 

1.  (1) P subjectively knew of the risk AND 

2.  (2) voluntarily & freely encountered it (i.e., had a real choice not to do so)
3. **There are some states that abolished Butterfield and went to comparative fault, but still follow traditional rule of implied a/r which is just a way around comparative fault, back to Butterfield
4. *Not looking at inherent risks

ii. (2) “Primary” and “Secondary” Approach
1. Primary: bars claim entirely - ∆ owes no duty of reasonable care OR breach no duty:

a. No duty to protect others from inherent risks; however cannot increase likelihood of risk or its magnitude

b. No breach where ∆ reasonably believes π has accepted the risk

c. *Usually applies to recreational activities or occupations w/ inherent hazards

i. i.e. employer doesn’t owe duty to protect employee from ordinary risks inherent in job. 
ii. Gregory v. Cott: P was a caregiver for D’s wife, old woman w/Alzheimer’s. P had cared for other patients w/Alzheimer’s disease & knew  they had violent tendencies. D became violent and injured P. 
1. No dispute Alzheimer patients can have violent tendencies. Such violence is thus inherent in the job of those who care for Alzheimer’s patients. D did not owe duty to protect P from wife’s violence. 
2. Secondary: treated as comparative fault - ∆ owes a duty of reasonable care but π encountered the risk and breached duty to himself

a. No state would follow this and butterfield 
b. CA follows this approach 
iii. (3) Eliminated A/R as a Defense:
1. Can be sufficiently covered by contributory negligence OR arguments of no duty or no breach of duty (so failure of prima facie case for π)
2. Rationale: Primary is an attack on prima facie case (aka not a defense at all); Secondary is contributory negligence so we don’t need implied a/r anyways
iv. Sports Cases: Implied a/r is most common in recreational sports settings either as a spectator or participant 
1. Question: Was what ∆ did, an inherent part of the sport itself? If so, duty not owed
a. An inherent risk is one that cannot be eliminated without changing the nature of the game; it’s reasonably expected
2. Spectators (lawsuits against stadium owners/operators, not players):

a. Primary A/R: Often applied to bar claims by spectators injured by risks inherent to the game
b. Baseball Rule (limited-duty rule): May apply – Stadium owners/operators have duty to protect spectators to a reasonable degree & Allow them to sit behind netting or not
i. If stadium puts up netting, spectator has choice to sit there or somewhere else, so stadium has no duty
3. *∆ does not have duty to protect from inherent risks, BUT ∆ has duty not to increase those risks
a. Determine what the inherent risks are? Did D increase them?

b. Rounteree v Boise Baseball, LLC: Stadium had extensive mesh netting to protect spectators from foul balls. Executive Club one of the few areas not covered. P was in the Executive Club, not paying attention, and was hit with a foul ball—losing his eye.
i. Court doesn’t adopt baseball rule bc of rarity of the accident. Doesn’t adopt implied AR bc it is logically inconsistent. Relies on comparative fault system.
c. Coomer v. Kansas City: Spectator at a baseball game. Mascot throwing hot dogs into the crowd & P is hit. Court focuses on the inherent risks. RULE: D doesn’t have a duty to protect P from inherit risk of a sporting activity. D does have a duty not to increase the risk inherit in the sport. Questions to ask: 

i. Is getting hit by a hot dog thrown by team mascot an inherit risk of baseball? 

1. No- you cannot throw hot dogs and it will not fundamentally change the game.

ii. If P would have been hit by a foul ball, the question would have been, is the risk of getting hit by a foul ball an inherit risk of baseball? 

1. Yes- You cannot have the baseball not thrown without fundamentally changing the game. 

4. Sports participants:
a. General rules: sports participants impliedly assume the risk of the dangers inherent to the sport
b. D owes no duty to reduce inherent risks, and does not breach a duty by failing to protect participant from such risks 
i. Additionally, a participant may even face the inherent risk that another participants will act negligently. 
c. But D does have a duty to not increase the inherent risks

i. Example: For a skier, falling and being hurt is an inherent risk of the sport, but hitting a hidden bush left of the beginner’s slope because of D’s negligence is not 
c. STATUTES OF LIMITATIONS AND REPOSE: 
i. The question is when a claim accrues (i.e. when the limitations period begins)
ii. Two Approaches:
1. (1) Date of injury (traditional rule):
a. The clock begins to run as soon as a suit could be brought—date of injury/malpractice—theoretically, even if P was unaware of the negligent act or even the injury 
i. Especially common in medical malpractice suits 
ii. In some states, if you know you were injured, you can file your claim before the SOL expires against “John Doe” 
2.  (2) Date of discovery (“The Discovery Rule”)—Majority Rule 
a. discovery of the injury and its probable cause (i.e. D’s role in causing the injury) 
i. Accrual of a claim under the discovery rule is not delayed simply because the P does not know the full extent of her injury 
b. Rationale: Don’t want to bar someone when they had no way of knowing they were injured or who injured them 
i. i.e. when the P is subjected to toxins that cause harm slowly over long periods of time
c. Elements:

i. (1) All the elements of the tort are present 

ii. (2) The P discovers, or as a reasonable person should have discovered that (i.e. if known facts would lead a RP to investigate, that statute will begin to run)

1. (a) they injury AND

2. (b) The defendant has a causal role or that there was enough chance that the D was connected to the injury to require investigation 

a. Note: Another approach requires you to know the D is at fault 

iii. Duty to investigate 
1. Some courts say: Ps have a duty to investigate once they have notice of certain facts 
a. P required to investigate facts necessary to bring cause of action 
iv. Awareness of D’s negligence 

1. Some courts delay accrual until P discovers, or should reasonably have discovered evidence of D’s potential negligence. 
2. “would not commence to run until the P discovered or should have discovered all the elements of a cause of action, including both the D’s negligence and the D’s causal link to the injury, or at least reason to investigate those issues.”
v. Identity of D

1. Courts have not agreed on whether the identity of the D must be known or reasonably knowable before a claim accrues. 
a. Some courts say accrual starts when P knows D’s conduct caused harm. 

b. Others say not knowing D doesn’t delay bc can file against “John Doe” 

3. Continuous Treatment Rule (typically only applies in medical & legal malpractice)
a. Rule: SoL suspended during the time the injured person is trying to fix the problem with the dr or lawyer
b. E.g. doctor tells patient they messed up and needs to fix it 
i. patient knows the injury, what caused it, and who did it 
1.  Patient CAN sue now, but they don’t have to 
ii. The continuous treatment rule delays SOL until the treatment for the patient by the physician has been concluded
c. Exception to Cancer à SOL begins when you discover years later that you have it 
4. Latent potential harm: e.g., someone is negligently exposed to toxic substance that causes harm later

a. Can sue for fear of getting cancer, but the SoL won’t begin to run for suit for cancer until a RPP would have discovered the injury. Might be able to get damages to pay for medical monitoring. 
iii. SoL may be paused 
1. Tolling for minority: SOL won’t run until 18
2. Tolling for unsound mind/mental incompetence 
a. individual unable to manage his or her business affairs, or estate, or to comprehend his/her own legal rights or liabilities 

b. Whether P cannot manage day-to-day affairs such that tolling would apply is often a question of fact. 
3. Other disability (i.e. P is in prison or the armed forces, pending class action certification) 
4. Equitable estoppel- may be used to prevent SOL defense if elements of estoppel are met: 
a.  (1) Delay in filing the action that is induced by the D

b. (2) D misled the P

c. (3) P must have acted on the information in good faith to the extent that he failed to pursue his action in a timely manner 
d. Rationale: D conducted himself in a manner which induced P not to take timely legal action on a claim.
5. Force or Threat: If a D prevented suit by physical force or threats, he might be estopped from pleading the SOLs as a defense
6. Fraudulent Concealment: SoL will be tolled if D fraudulently conceals a cause of action from P. 
a. Tolling may last until P discovers, or should have discovered, either the fraudulent concealment itself, or the facts that establish a cause of action. 
b. Elements of fraudulent concealment: P must prove that
i. (1) D knew of the alleged wrongful act and concealed it from P, or had material information that he failed to disclose, and 
ii. (2) P did not know or could not have known through reasonable diligence, of the cause of action within the statutory period. 
c. Many courts require the act of concealment be “active” such as by making an actual misrep. of fact as opposed to simply remaining silent
i. requirement not imposed where parties are in a fiduciary relationship that imposes a duty of disclosure 
7. Equitable tolling

a. Difference is that this does not require any misconduct by the D

b. Court may decide to toll a statute if litigant has pursued his rights diligently, but extraordinary circumstances prevents him from bringing a timely action 
d. Statutes of repose:

i. Statute of repose= Puts absolute time limit on right to bring suit and is measured from date of last culpable act or omission by ∆, even if π did not discover and could not have discovered negligence 

1. It will say you cannot bring a claim after X amount of years after that event. 

2. Generally, not subject to equitable tolling 
3. (i.e. SOR- sign is erected falls) 
LIMITING/ EXPANDING DUTY OF CARE
I. COMMON CARRIERS: one who undertakes to transport all persons indiscriminately and is in the business of carrying passengers (aka paying customers, i.e., taxis, buses, trains, airplanes, etc.)
a. Jdx split:
1. Traditional: owes passengers “the highest or utmost” degree of care b/c passengers have surrendered their freedom
2. π doesn’t have to prove operator acted negligence, but something lower (very vague)
3. very careful 
ii. Modern: reject higher standard of care for general RPP/SSC standard
II. GUEST STATUTES/host statute (aka non-paying guests): require lower standard of care b/c π didn’t pay( some statutes say standard based on “gross negligence” or “willful or wanton” misconduct.
i. Many states have repealed these statute
ii.  (Here, even a pedestrian would be owed a higher duty because pedestrians get RPP duty)
III. LANDOWNER DUTY 
a. Duty owed by landowner/occupier (∆) depends on entrant (π) status at time of injury; can only be in one entrant category at a time, but status can change quickly
b. π is injured b/c of a condition on the land (in a few states π is injured b/c of a condition on the land OR b/c of any activity on the land( Some states don’t make distinction 
i. A condition on land is usually a rotten bridge, barbed wire, not activities. 
c. Traditional categories of entrants:

i. 1) Invitee ( On land w/permission, usually to give financial benefit to LO
1. Business invitee(Customers at a store

2. Public invitee(on land open to the public; doesn’t mean its publicly owned land. It just means land open to public. (i.e., airport newspaper stand, office building lobby)
ii. 2) Licensee ( on land w/ permission but not on land open to public or to provide a financial benefit to LO, includes social guests 

1. some jdx have expanded invitee to include social guests
iii. 3) Trespasser ( on land w/o permission (adult and child treated differently)

1. On land without permission either intentionally or accidentally
2. Under Approach #1 or #2 there is dual knowledge requirement: If LO/occupier knows or has reason to know (majority) that trespasser is on land and you know there is some hidden, dangerous condition, then…
a. LO/occupier owes RPP/SSC; OR
b. is willful/wanton b/c of failure to warn
i. All that is needed to avoid liability is a warning of the condition
3. if LO doesn’t know or doesn’t have reason to know there is a danger, no duty is owed. 
a. No duty to inspect the land 
b. With an invitee or licensee (depending on states) you may have reason to inspect the land depending on the facts.
4. States may enact statutes that change duty owed to “flagrant” trespassers only duty not to intentionally/willfully/or wantonly injure them unless imperiled/helpless (then duty is one of reasonable care), or (CA) depending on if trespasser commits a specified felony
5. *Trespassers will often be an unforeseeable π as a MOL and thus no duty is owed. This may eliminate duty of care or proximate cause, b/c rule of foreseeability in determining π’s negligence. Less likely that a trespasser would recover.
6. Often, LO/occupier will be held to duty of reasonable care when carrying out affirmative acts (like driving) on property if he knows trespasser is present
d. (1) Approach #1: Traditional rule (25 states) 
i. Invitee- Duty owed is RPP/SCC 
1. Only group owed RPP/SCC duty; others are due lesser duty 

ii. Licensee— Duty not to willfully or wantonly harm 

a. Landowner is said to owe a duty of reasonable care to all licensees in carrying out activities on the land. (Book notes) 
iii. Trespasser— Duty not to willfully or wantonly harm 
iv. Gladon v. Greater Cleveland Regional Transit Authority—railroad only had duty to not willfully or wantonly harm him because he was a trespasser at time of injury. Purchased a ticket = invitee on the platform. Moved from platform to tracks = trespasser (no permission). 
1. RTA failed to have adequate security (condition). Negligently operating train (activity).  P’s claim: defendant negligently operated the train (activity)

2. Restatement approach is condition on land (usual approach) ( here, applying to an activity 

3. Here following approach 1, no duty to use reasonable care with trespasser/licensee 

4. Question on remand: Did the train driver act willfully, wantonly or recklessly? 

a. Operator’s testimony is ambiguous. When she said that she saw tennis shoes on 

e.  (2) Approach #2 (Modern Rule--12 states)
i. Invitee AND licensee are both owed RPP/SCC duty 
1. Duty is triggered by permission not financial gain 
ii. Trespasser
1. Duty not willfully or wantonly harm 

f.  (3) Approach #3 (in line w/3rd Rst.)(12 states & CA) 

i. RPP/SCC duty owed to all entrants
ii. CA law excludes RPP to trespassers when injured during or after commission of a felony 
g. ANALYSIS 
i. Step 1: Does this section apply? Only applies if suit is against a landowner. 

ii. Step 2: Choose jurisdiction & classify entrant before injury but then classify entrant at time of injury and determine duty owed by D 
iii. Step 3: Did D breach duty? Go on to other elements 

iv. Step 4: Look into contributory negligence.

v. Step 5: repeat step 2 for all 3 approaches  

h. Child Trespasser: LO owes a duty of reasonable care to a trespassing child (under 11) if a reasonable LO would know or foresee that:
i. (1) There is a dangerous condition on his land. wouldn’t be recognized as dangerous by child—attractive nuisance

a. Ex: Old car with trunk that can’t be open from inside; old refrigerator 
b. Duty requires LO to abate the problem (remove trunk lid, written warning not sufficient for a child) 
c. Some courts hold common hazards (fire and pools/ponds) are not attractive nuisances & trespassing child injured by the above is not entitled to protection from LO. 

i. Some courts hold allow recovery for swimming pool injury  
ii. (2) Children are likely to trespass on his land 
1. Shown by presence on things of the land, or if you know you have something on the land that will attract children; something kids will like to play/ climb on 
iii. (3) b/c of their youth and inexperience, will face an unreasonable risk of serious injury 
i. Open and obvious hazards on land: condition is obvious when objectively both the condition and the risk are apparent to and would be recognized by a RPP/SSC 
i. Traditional Rule (consistent w/Butterfield): Obvi. hazard is its own warning; so if open & obvi, LO no duty to warn 
1. bars π’s (even an invitee) claim entirely b/c π was negligent in encountering hazard; ∆ doesn’t owe duty or there is no breach duty of care to warn of obvious hazard; OR there is no proximate cause b/c no harm was foreseeable to ∆ b/c hazard is obvious
ii. Modern rule: Treating it as comparative negligence by P
1. If dangerous condition is open and obvious, LO is not liable to invitees for harm from open & obvious dangers except where the landowner should anticipate (foresee) harm in spite of the knowledge or obviousness( RPP duty is owed 
2. The question should not be if the hazard was open and notorious
a. Was it foreseeable that P would encounter this hazard despite its danger? 
i. If P has a reason to encounter danger, and the reason P encounters it was foreseeable, it becomes a negligence case, the all-or-nothing rule is abandoned. 

iii. When can we conclude D should have foreseen a Ps encounter with the hazard?
1. P’s decision to encounter a known danger will often be reasonable when P is exercising a right like the tenant's right to reach her apt. through a common passageway
a. Example: A tenant in an apartment building needs to cross a floor maintained by LO that is dangerously slippery from waxing, or has to cross ice on the steps in order to reach her apartment. Even if she knows the danger, a decision to encounter it is more reasonable than a decision to never enter her apartment (therefore foreseeable). 
2. When their job requires them to encounter the danger 
3. When the P will be foreseeably distracted
a. Case below, the EMT would not be focused on the curb, rather on patient. 
iv. Usually what satisfies the duty is something VISUAL 
1. For example: reflectors to notify people something is hazardous
v. Kentucky River Medical Center v. McIntosh— P trips on a curb outside the hospital emergency room (she is an EMT).
1. P knew of the curb. On initial encounter you can say it was open an obvious
2. Court moves away from all-or-nothing rules. Courts looks at in terms of comparative negligence. When it is foreseeable that the invitee’s attention may be distracted, so that he will not discover what is obvious or will forget what he has discovered, or fail to protect himself against it,  injury is still foreseeable and so liability should still be imposed. extent to which her absentmindedness comes into play should bear only on her comparative fault rather than as an absolute bar to recovery. 
3. Analysis: First: Is it foreseeable to an RPP in the position of D, here a hospital, a raise curb which you can trip over is a hazard
i.  If a reasonable person would recognize that is a hazard even though it is open and obvious, then that was negligent. 
b. Second: Was the EMT contributory negligent. If not, then why not? 
i. She is foreseeably distracted. If D knows foreseeably that P will be distracted and not think of the object.  
IV. NONFEASANCE: 
a. General rule: no duty to act affirmatively to assist P
i. You know D didn’t act when P alleges D failed to act.
b. This essentially provides the D with another avenue to escape liability 

c. We are dealing with situations where a person needed to be rescued (issue spot for this), and D literally did nothing.

d. For NONFEASANCE, you are looking at the facts for something that might TRIGGER A DUTY
i. Because without that trigger, there is no duty, no analysis 

1. Estate of Cilley v. Lane—Former boyfriend shot himself in D’s living room ( does not trigger a duty; she had no duty to call for help. 
a. No special relationship (exception to nonfeasance rule) or conduct that has endangered another (misfeasance) 
b. Boyfriend was a trespasser because she told him to leave and he did not; however, he was not injured by a condition on the land 
2. Newton v Ellis—D hired to dig wells in the road. Left excavation unlighted at night. P’s carriage fell in hole & P was injured. D argued nonfeasance. 
a. Court held, improper mode of performing work (digging a hole & doing it badly) is an act.
e. Exceptions that Triggers a Duty (only need 1) 
i. (1) D knows or has reason to know that his conduct has caused harm – even innocently 
1. Example: hit and run but no negligent driving 
a. D now has a duty to act reasonably & assist P because you hit them. 

i. Could simply mean calling 911 or moving P out of the middle of road
ii. (2) D’s conduct has created a risk of harm, duty triggered to act (reasonably) to prevent that harm 
1. Have a duty to prevent harm from getting worse ( really misfeasance b/c you’ve done something to create risk

iii. (3) Statute or ordinance creates a duty to act affirmatively for protection of another
iv. (4) Voluntary undertaking assistance – “beginning to act”
1. If you begin to rescue, then
a.  (1) Duty not to stop assistance & leave P worst off 
b. (2) Duty to provide assistance in a reasonable way 
i. Wakulich v. Mraz—π is dared by D to drink bottle of liquor & lost consciousness. D placed her on couch, removed vomit-soaked shirt & placed pillow under π head. D prevented others calling 911. Girl dies. 
1. Court says this is nonfeasance, but finds exception bc D began to assist her. voluntary assumption of a duty and D did that in an unreasonable matter
v. (5) Duty not to prevent or deter others from assisting 
1. This can range from saying to someone, “ I got it” when you don’t 

2. Hayden doesn’t think this is nonfeasance since D is doing something actively 

vi. (6) Special relationship between D with P 
1. common carrier – passenger

2. innkeeper – guest

3. landowner – lawful entrant (public land or invitee/licensee)

4. school – students

5. landlord – tenant

6. custodian – protectee

a. Rocha v. Falty—Frat friends drinking at a party. Go to a river where D dives in, yells at Rocha to jump in & drowned bc couldn’t swim. Estate claim D failed to save him. Court says adult encouraging another adult does not give rise to a duty. 

i. Argument that there were in a special relationship? they drove together, were drinking together?? 
1. Some cases suggest there is a duty especially when the other person knew there was danger 

b. Podias v. Mairs— 3Ds drinking & driving, struck a motorcyclist, P, left him lying in the middle of the road (thought he was dead). All 3 had cell phones, and called friends but not 911. After Ds left, another car struck P & he died. SJ granted for non-drivers. Court held should have gone to jury. 

i. You have 3 D’s. The trigger of duty for each D’s is not the same. 
ii. For Driver, first exception triggers duty. 
1. When D knows or had reason to know he has caused harm. 
2. 2& 3 might work too 
iii. For passengers--Duty not to prevent others from helping triggered duty 

1. Court also says they had a special relationship to the incident. 
2. Court read special relationship exception very broadly 

c. Notes: Notions of policy/morality enter into analysis either overtly or impliedly in non-feasance cases. 
i. Podias seems to say, once you find moral duty you need to find legal duty and bring them close together, can’t be big gap. 

d. As P, always try to make case misfeasance instead of nonfeasance. D usually moves to a motion to dismiss. If court buys into that, P is forced to prove an exception. 

i. He failed to provide security. Better way for P to say this is, D did not provide adequate security. Generally two exceptions to misfeasance
I. DUTY TO PROTECT PLAINTIFF FROM THIRD PARTY
a. Allegation: D failed to protect P from 3rd party attack (most often an intentional tort) 
b. RULE: No duty to protect ( Need at least one of the exceptions to trigger duty 
c. EXCEPTIONS That Trigger Duty
i. (1) D has a special relationship with P AND foreseeable risk of harm by a 3rd party 

 (2) D has a special relationship w/3rd party (source of harm) AND foreseeable risk of harm by a 3rd party
ii. (3) Beginning to assist/take charge 

1. ∆ must continue to provide assistance reasonably & duty not to stop if you would leave person worse off
a. Example: D provides lighting in parking lot, D cannot use a 5-watt bulb. D acted affirmatively to provide security, but did it unreasonably. 
b. Example: someone begins to rely on the fact that there is a security guard, and then all of a sudden, the security guard is not there. Can’t just take it away for no good reason 

iii. (4) Where defendant has created risk of harm through affirmative action 

1. Ex: landlord provides poor lighting and non-working locks 
d. Analysis: 

i. Does D have a duty to protect P from third person?
ii. Assuming there is a duty, was D’s conduct or failure to engage in conduct, a proximate cause of P’s harm?
1. It used to be that if D was acting in a criminal way. It broke causal change and D was not liable 
2. If D in fact created a risk, you are not looking for exceptions to nonfeasance. if it can be pleaded in a way that D was acting 
e. Special Relationship Categories (non-exhaustive list) 
i.  (1) Common carrier-passenger 
ii. (2) Innkeeper-guest 
iii. (3) Business invitor-invitee 
iv. (4) Employers-employee
v. (5) School-student
vi. (6) Lanlord-tenant 
vii. (7) business/ land owner-invitee (lawfully on land open to public) 
a. replaced invitor-invitee
viii. (8) Voluntary custodian-protectee 
1. Some courts say D needs to have literal physical custody/control over 3rd party; that should put you on notice of their characteristics. 
2. Other courts look more loosely at this. 
a. 3rd party is in D’s control if: D has the legal and factual ability to control 3rd party
i. No foreseeable risk, no duty 
b. Dudley v. Offender Aid: convicted felon left halfway house and raped woman ( duty exists b/c of special relationship. D knew he was dangerous & had been warned by psych. 

i. The halfway house, upon receiving Spencer, became a custodian in charge. D’s duty ran not only to victims that might be identified in advance but to all those who are directly and foreseeably exposed to risk of bodily harm from the defendant’s negligence. The decedent was within the area of danger. 
c. Marquay v. ENO—P, students alleged teacher sexually abused them & other employees, including teachers, principals and secretaries were or should have been aware of the misconduct.
i.  Liability for failure to report may be imposed provided that reporting would have prevented subsequent abuse. 
ii. School supervisors stand in for parents therefore owe a duty of care to students flowing from that relationship. 
iii. Those who do not directly supervise students, still owe a duty but it comes from a different place. They have a special relationship with the source of harm. 
3. Landlord-tenant

a. Many courts are in accord that L/T relationship alone does not trigger the duty 

b. Other courts have said that L/T relationship alone can trigger the duty 
c. Ward v. Inshmaan Assocs. LTD Partnership: two long-time neighbors in a housing complex owned by D. For years, there was friction between Sommers & P. Sommers stabbed P.  P sued D alleging D failed to protect her from 3rd party. 
i. Tenant-landlord relationship( does not trigger duty. Only triggered if: 

1. Landlord created/responsible for defective condition on premise that foreseeably enhanced the risk of criminal attack 
2. Landlord undertakes to provide security 

a. Kline v. 1500 Mass ave,: When P moved in there was a doorman; then 7 years later area became more crime ridden. Doorman was let go. Other forms of protection were removed. P attacked in the hallway.

i. D had a duty, undertook to protect (had security) & them stopped (removed security). 

ii. D had to maintain same level of security as when tenant moved in. The fact that crime increased, should have resulted in higher security.
f. Foreseeability Tests If special relationship but not foreseeable ( NO DUTY
i. (1) Specific harm rule (no state follows—favors landowners)
1. No duty to protect against 3rd party unless aware of specific and imminent harm (more like actual knowledge)
a. Ex: look out your window and see someone being attacked 

ii. (2) Prior similar incidents: no duty to protect unless π can establish evidence of previous similar crimes on/near premises ∆’s land that would put ∆ on notice of future risk
1. First time a crime occurs will never be foreseeable, need at least one prior instance 

2. Problems: no rule for how many incidents/how far back you look – too arbitrary

iii. (3) Totality of circumstances (most common approach—too broad, places greater duty to foresee) 

1. Looks at nature/condition/location of land/previous crimes and other relevant circumstances

2. Might be hard to prove foreseeability without prior incidents but not fatal, can point to other things that might make it foreseeable

a. If there is anything that would make it reasonably foreseeable that a crime could occur, might suffice (anything that might attract crime) 

b. property crimes or minor offenses as precursors to more violent crimes.

iv. (4) Balancing test (CA and TN use)

1. Balance foreseeability of harm against burden of imposing duty to protect against 3rd persons ( like B < P x L (carol towing but only used to trigger duty here (not breach)

2. Ask if (burden of avoiding harm) is less than (foreseeability of harm occurring) x (extent of harm)

a. The greater the P x L, the more a RPP has a duty to prevent harm by taking additional measures

b. Where foreseeability of harm is lower (maybe no evidence of prior similar acts, no other factors that would give rise to criminal activity) can argue D would not owe a duty to provide full-time security guard

i.  might satisfy a reasonable duty of a care by having security lights, cameras, or the like. 

c. But where foreseeability is greater (bc there is more evidence of the likelihood of criminal acts) the duty might require to hire guards, etc. 

3. Posecai v. Walmart: Shopper is robbed at Sams club parking lot w/no security guard ( in special relationship (business invitee); court applies balancing test ( not enough foreseeability to impose duty to provide security guards in parking lot. 

a. In the last six and a half years,3 robberies took place on D’s property, while 83 similar offenses took place on the same block. These few incidents do not create a high degree of foreseeability on the part of D, and therefore security guards were unnecessary. D could not have foreseen the need for security guards in the parking lot. 
i. Expensive to have guards 
· Before doing this analysis, make sure the failure to provide security is a factual cause of the harm

g. Duty to Control Tenants 
i. Duty arises if LO knows or has reason to know tenant is dangerous AND
1. i.e. shooting guns, gets complaints, landlord ask to stop but he doesn’t, tenant eventually kills someone 
2. keeping vicious dogs and dog injures someone, landlord fails to take reasonable action to prevent that from occurring 
ii. it was foreseeable 
h. Duty to Control Family Members (where family member injures someone else) 
i. Courts have been reluctant to establish duty in cases where there is foreseeability but no control, or vice versa 
1. If spouse knows of bad behavior, but assures others everything is fine, duty now exists triggered by active assurance of no problem (this is not non-feasance; it’s misfeasance). Acting affirmatively and creating risk(duty 
a. What if she didn’t say anything/ do anything to create risk? Court reluctant 

2. Parents & Children 
a. Courts reluctant to establish duty in cases where there is foreseeability but no control
b. But parent can liable if something is super foreseeable, like a dangerous specific trait or habit of child (more like actual knowledge) 
i. Duty to control Employees
i. 3rd party is an employee, D is the employer
ii. Does an employer control an employee? To a degree, yes—right to hire, fire, demote, etc. 
iii. The main theory is negligent supervision/ hiring/ retention/ of an employee
1. Liability turns on whether the employer knew or should have known that the employee’s conduct would subject others to an unreasonable risk of harm 
a. D hires someone (fails to do background check) who previously raped woman. Negligent to put them to deliver goods to single women. 
b. Diocese case- arch diocese knew priest was a pedophile and kept transferring him and putting him to supervise children. Negligent supervision. 
i. Can sue people in charge of priest, they have control over priest 
ii. duty of reasonable care may require employer to conduct an investigation of an employee where there have been complaints. 
iv. If employee harms someone intentionally? Does employer owe a duty of care to the P? 

1. Generally intentional/criminal acts are not within the scope of employment so wont be vicarious liability BUT can be held liable under a negligence claim 

2. Special relationship places employer under such a duty, if the employee is either on the employer’s premises or is using the employer’s chattel. 
3. Such a duty is imposed when the employment facilitates the employee’s causing harm to another person. 
II. ALCOHOL PROVIDOR
a. Traditional rule- one who provides alcohol to a patron is not liable for harm caused to third persons by the intoxicated patron bc provider was not a proximate cause of harm done by the drinker 
i. New Rule: Licensed seller of alcohol (consumption of alcohol on premise) has a duty to use reasonable care( liability is often imposed when the D negligently sells alcohol to a minor or an intoxicated person who, as a result, injures  P. 
ii. If ∆ knows person is drinking in your establishing and that they are driving, (1) harm is foreseeable, (2) π’s are foreseeable AKA this is like negligent entrustment
iii. However, some states still reject liability when ∆ negligently sells to minor or noticeably intoxicated person
iv. Most courts say that adult drinker is responsible for his own injury & ∆ owes him nothing
v. Even where duty is owed, ∆ might still avoid liability b/c injury is not proximate cause of the breach (i.e., visibly drunk person leaves bar & fires gun)
b. SOCIAL HOSTS
i. General Rule: Social host aka alcohol provider is not liable for harm caused to injured party (π), by intoxicated social guest (3rd party).
1. Some jdx: Require RPP/SSC
2. Some jdx (CA): Require a showing of recklessness rather than negligence in serving
a. i.e., know that guest will be driving; starting to take keys could create duty
3. Some jdx: Liability imposed where ∆ knowingly provided to minors
4. Some jdx: Liability imposed where π proves by clear & convincing evidence that social host served visibly intoxicated guest
5. Some jdx: Liability imposed where adult allows underage persons to consumer
ii. *If you sell drinks, you seller rules may apply; you may no longer be a social host
c. DRAM SHOP STATUTE (may be the exclusive remedy against an alcohol provider) 
i. Most states have adopted statutes that regulate providers of alcohol (relates to social hosts)

ii. Often statutes expressly say liability for commercial sellers of alcohol ( assume legislature purposefully excluded social hosts

iii. Immunities: some states immunized sellers of alcohol from negligence – responsibility on drinker

1. Most sellers for consumption on premises owe a duty of reasonable care

2. Liability for sellers for consumption off premises less likely

d. NEGLIGENT ENTRUSTMENT: affirmative act of giving a dangerous instrument to an incompetent person
i. P must prove 
1. 1) that the D entrusted a chattel
2. 2) to an incompetent entrustee
3. 3) with knowledge or reason to know of the entrustee’s incompetence, and 
4. 4) the entrustee’s incompetence while using the chattel caused the injury. 
ii. If entrustee, person who uses the chattel, steals the chattel( not entrustment
iii. If entruster leaves something out and somebody can get it( entrustment 
iv. i.e. keeping a gun in a shoe box, kid finds it and kills his friend.  
v. Kinds of Chattels covered. 


1. Products that could be operated by entrustee, such as cars, guns, or cig lighter.  
vi. First party negligent entrustment. 

1. In most states a negligent entruster may be liable not only to third persons injured by the entrustee, but also the entrustee himself. 

a. Entrustment of gun to intoxicated guest, who accidentally shot herself 
I. STRICT LIABILITY
a. Introduction: Vicarious liability is liability without proof of fault (aka SL). There is no need to prove intent, recklessness, or negligence.
b. Employer VL: Employer can be held VL (aka respondeat superior: higher up one responds) for the torts of certain employees, provided these torts were committed within scope of employment. 
c. ELEMENTS: An employer is VL for: 
i. (1) The Torts 
1. Must first prove PF case against EE  
ii. (2) Of employees
iii. (3) Committed w/in scope of employment

1. If employee’s conduct is of the same general kind as authorized or expected, and employee is acting within authorized time & space limits
2. * π sues employee through negligence/intentional tort and also employer for the full amount through VL (meaning, damages not split). Employer has right to indemnify EE for full amount, but rarely happens b/c insurance usually covers
3. *Employer can invoke any defenses an employee would (contributory negligence, a/r, etc.)
4. *In the alternative, π can sue employer for primary liability ( negligence in supervision, hiring, retention, training
a. Employer may owe duty of care to protect π from torts of employee’s (special relationship)
II. “Within the scope of employment” tests (jury question if reasonable people can differ):
a. Going & Coming Rule (basically universally accepted): Employer not within scope during normal commute to & from work
i. Exceptions: where commute gives “incidental benefit” to employer):

1. Commute serves a dual person for both ER and EE 

2. ER instruct EE to carry job-related errand during commute) 

3. Driving personal vehicle to work so it can be used for work-related activities

4. EE is on-call

ii. Caselaw:

1. ER pays time and expense for commuting, making them w/in scope

a. “workplace being extended & ER was getting a benefit.” 

b. Deviations:
i. Slight/Temporary Deviation: smoking, drinking, eating, personal hygiene does not take employee outside scope; don’t subdivide work day
1. Edgewater v. Gatzke—EE living away from home bc supervising opening of a restaurant. EE staying at a hotel drank then later lit a cigarette. Fell asleep while smoking and hotel burned down. Court looked at evidence for an employee getting a benefit (the employee tasted alcohol for the opening and was filling out his billing). Court said smoking was only a slight deviation from the job and likened it to drinking coffee. 
a. Slight deviations from normal work activity don’t cut off VL. 

b. *don’t subdivide the work day; this act was for EE this other act was ER 

ii. Frolic EE not in scope of employment if on a froli
1. Frolic=EE engaged in something for pure personal gratification while on the job
2. EE who has left scope on a frolic may re-enter employment

a. Typical case = EE goes to bar and drinks a lot (on a frolic) but then gets back in truck for work and is now back in scope of employment

b. Point where you re-renter scope of employment determined on case-by-case but there are a few rules: 

i. Mindset is relevant AND how far you are from work

1. Recommitting mentally (acting w/intent to further ER interest) 
2. near the job in space & time in terms of where you should’ve  been
vii. Detour (a trivial departure): within scope of employment, employer VL

1. However, if employee sent out to do job, and stops by friend on way back, depending on time & space, could be a frolic

c. Intentional Tort w/in scope of Employment 

i. Employers not usually VL b/c intentional tort will likely be committed for personal motive of employee aka intentional tort has no connection to employment aka there will need to be a causal nexus between employee’s tort and employment
1. To establish:
a. If conduct is required or incidental to employee’s duties; OR
i. Ex. bouncer / bodyguard: job is to grab people and throw them out (w/in scope=VL). Job is not to beat them (not w/in scope)
b. If conduct is reasonably foreseeable in light of employer’s business
i. Motivation is key (some courts)( Was EE motivated at least in part to serve the master’s business? 

1. such case very rarely will it be w/in scope bc not done to further ER interest

ii. whether tort arose out of workplace dispute (w/in scope) or instead was it due to employee’s personal malice 
iii. This is not but for-- but for the job EE wouldn’t have been able to do that. That employer brought P and D together this is not enough. Some courts allow this, but most do not 
ii. Montague v. AMN Healthcare, Inc.—Drummond poisoned P at work. 
1. First prong—P presented no evidence re: the scope of Drummond’s employment. It is unknown what specific job duties Drummond had at Kaiser and whether duties involved the use of carbolic acid. Also, unknown if poising was committed during work hours or what motivated D to poison P. n
2. Second prong— Poisoning is highly unusual and startling (not foreseeable) thus would holding ER liable will not make them more careful. Not enough facts to support whether it arose from workplace dispute Should go to the jury. 
a. Also poising doesn’t provide any benefit to ER. Contrast this w/ a bouncer keeping rowdy people out. That benefits ER. 
iii. Analysis for VL for Intentional Torts: 

1. Start from mindset that it is very unlikely employer will be vicariously liable. 
2. Test: Motivated at least in part to serve the masters business 
3. Does job require it (bouncer) 
a. The more serious the crime, the less likely employer will be held liable. 

4. In the alternative, P can sue for negligence in supervision, hiring, retention (not firing), training.

a. ER may owe duty of care to protect P from EE (special relationship) 

b. Breach duty by failing to supervise, hiring, etc. 

c. Prove other elements: actual harm, factual cause, proximate 

I. PRODUCTS LIABILITY 

a. Case: P injured by a product and D is a manufacturer or seller 
b. This is not a negligence case, this is SL (fault w/out proof); only applies to tangible goods 
c. P can sue the manufacturer and everyone in the chain of distribution 

i. i.e. product purchased from Sears (seller), manufacturer is in China 

1. Can sue both. Seller if found liable can indemnify manufacturer to recover  

d. Rationales: 
i. Consumer expectations

ii. Enterprise liability or loss of spreading
1. Mfg & sellers can more easily spread costs from injuries by increasing prices 
2. Liability-cost of doing business. 

iii. Practicality 

1. Seller can have indemnity from Mfg, cheaper to permit P to sue seller rather than mfg 

2. Imposing SL saves the legal system the time and expense of proving negligence. 

iv. Fairness

1. Mfg imposes a special kind if risk—nonreciprocal risks on the consumer. 

v. Deterrence

1. Gives mfg an incentive to be more careful even though PL is not about neg

2. Incentive to make products safer to keep prices down 
II. ELEMENTS: P must prove all 
a. (1) Product was defective at the time it left the mfgs hands [duty & breach elements replaced
i. Can be very hard to prove if a lot of time has passed
ii. Don’t need to prove how its defective, just that was defective when it came off the assembly line 
b.  (2) Defect was a factual cause
c. (3) Proximate cause
d. (4) of physical harm to person or property other than product itself 

III. 3 TYPES OF DEFECTS
a. (1) Manufacturing Defect
i. Affects only one or a few in a million that was produced. 

ii. Something comes off the production line in a way mfg didn’t intend
iii. Would be difficult to win on a negl claim b/c hard to prove D fell below standard of care if it’s 1 product out of 10K

iv. Test: to Establish product was defective( Consumer Expectations Test:

v. Is this what an ordinary consumer would expect? 
vi. It is defective when it is unreasonably dangerous
1. danger that exceeded ordinary consumer expectations 
2. RULE: π has to prove that the defective product’s danger exceeded what an ordinary consumer w/ ordinary knowledge expected aka it was unreasonably dangerous.

vii. It was more dangerous than what a consumer w/ avg intelligence about how a product should work would think
b.  Test for Food:

i. Most states use consumer expectation test—whether sold at restaurant or grocery store 

ii. If defect is natural to the food, not defective 

1. Chicken bone in a chicken enchilada( natural 

iii. If defect is not natural to the food, 

1. Chicken bone in beef enchilada( non-natural 

c. (2) Design Defect
i. Means potentially all of the products are defective 
ii. Product is as intended but it’s defective( need to identify specific way it is defective

d. Test Used:
i. Consumer expectation 
1. Some courts say can’t use this for every case. If product is too complicated, consumers doesn’t have any expectations re: how a product show work. 
2. If consumers don’t have an expectation, cant use test so need to use utility test. 

ii. Risk utility balancing (RUB)
1. Burden on P to prove risks or danger of the design outweighs utility of design
a.  looking at the product defect, not product as a whole, not conduct of the D
2. In many states, RUB requires P to prove alternative design (RAD) 

b. Most Ps can’t meet this, expensive bc need to hire expert witnesses 
c. RAD needs to be reasonable/ feasible 

iii. A number of states, including CA allow P to elect either one  

1. Another sub category, including CA, shift burden on D to prove utility of design outweighs risks or danger of the design 

iv. CA approach
1. Allows jury to find design defect on either consumer expectations or RAB
2. Consumer expectations only used if consumers have an expectation ( if jury ill-equipped to use this for design defects, don’t use
3. BUT, on risk-utility, the burden of proof is changed from the P to the D to show that utilities outweigh the risk
4. D also has to prove there was NOT a reasonable alternative design

v. State Split:
1. Minority of courts use only consumer expectations for design defects
2. Majority of courts use risk/utility balancing
3. 3rd group of courts allow P to choose whether to use consumer expectations or risk/utility balancing

e. (3) Information/Warning Defect

i. Product can be perfectly manufactured & designed but if it doesn’t come w/adequate warnings can still be “defective
ii. Essentially just a negl case
iii. Test:
1. Could the foreseeable risk of harm been avoided with a reasonable warning? 
i. P has to prove there was a reasonable alternative warning that D could actually have put on the product
ii. Determine whether warning given was reasonable or not & compare it to what should have been given  
ii. Not including severity of danger unreasonable 
iii. Placement & size of warning can make a warning unreasonable.
e. Obvious Dangers: General rule: no warnings need to be given for obvious hazards. 

i. Don’t need a warning label on electrical plug 

ii. Don’t stand in the back of a pickup truck 

iii. But there may be situations where you do have to warn because it is hard to distinguish obvious/dangerous, etc. 
